UGC NET 2022 HISTORY SH1

Topic:- 6_SH1_PART_A_SET1
1) The Sanskyit texts describing the history of the sacred places of ancient India are called
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[Question ID = 1][Question Description = 101_06_History_0CT22_Q01]

. Upanishad

i~

IqHEES

[Option ID = 1]
2. Agama

#HTH

[Option ID = 2]
3. Kavva

T

[Option ID = 3]
4. Sthalapurana

T

Pl

[Option ID = 4]
2) Which book of Indian logic introduces the New Nyava (Navva Nyaya) svstem in Indian
Philozophyv
A FROTE F FHA H FaF GUAE 59 ° 90 = O] T el 2 7
[Question ID = 2][Question Description = 102_06_History_0CT22_Q02]
. Khandanakhandakhadya
GUEAETSE=

[Option ID = 5]
2. Nyavasiddharjana

[Option ID = 6]
3. Tattavaclntamani

[Option ID = 7]
4. Padarthacimtamani

TR

[Option ID = 8]

3) Which of the following writers provides biographical details of the Chandela dynasty?
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[Question ID = 3][Question Description = 103_06_History_0CT22_Q03]
1. Bana

el

[Option ID = 9]
2. Bilhana

~

B o]

[Option ID = 10]
3. Kalhana

(A

[Option ID = 11]
4. None of the above

[Option ID = 12]

4) Paumacarivam is the Jaina version of which of the following story?

digFEEs FeteEa 5 3 e o e e B
[Question ID = 4][Question Description = 104_06_History_0CT22_Q04]
1. Mahabharata
EEiEI e

[Option ID = 13]
2. Buddhacaritam

qGATH

[Option ID = 14]
3. Dasarathajatakam

e 2 =

[Option ID = 15]
Ramayana

[Option ID = 16]

5) The two Buddhist sects Hinvana and Mahayana were given recognition by
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[Question ID = 5][Question Description = 105_06_History_0CT22_QO05]
1. Third Buddhist Council at Patliputra

wrefea | T A T

[Option ID = 17]
2. Fourth Buddhist Council in Kashmir



F7m § 994 wig s

[Option ID = 18]
3. Nagarjuna

.

AT

ik

[Option ID = 19]
4. Ashoka

I

[Option ID = 20]

6) Why 15 Ashoka's 13% Rock Edict considered significant for Indian history?
qUEF 3R T 3 F 133 I 9Riey i TEeayo g e 27

[Question ID = 6][Question Description = 106_06_History_0CT22_Q06]
1. It mentions his Dhammayatra

[Option ID = 21]
2. Tt mentions the names of his contemporary Indian Kings
THE T HHEEA SEAT TR S A I

[Option ID = 22]
3. It mentions the names of the Hellemc Kings

[Option ID = 23]
4 It announces that King Ashoka has become a Buddhist monk
zH == = o R 2 T s s S g e E

[Option ID = 24]

7) The temples of the Chola period are famous for their craftmanship and grandeur. The Chief
Sculptor of the images of the temple deity was known as :
FetafEs 1 7 5 =9 9 39 = an?
[Question ID = 7][Question Description = 107_06_History_0CT22_Q07]
1. Vishvakarma

i~ r

IEEEEZ

[Option ID = 25]
2. gutradhara

EEC
[Option ID = 26]
3. Stapathi

=TI



[Option ID = 27]
4. Shilp1

Ty

[Option ID = 28]

8) Mridhara-Vacha' mentioned in Rig-Veda refers to

FTAT A SghEe g 9 5 Heienga 8 3 0 an 56 27

[Question ID = 8][Question Description = 108_06_History_0CT22_Q08]
1. One who perforins sacrifices

n ox, £
97 A1 8] <dl &

[Option ID = 29]
- One who does not perform sacrifices

[Option ID = 30]
3. One who worships nature

[Option ID = 31]
4. One who worships stone

[Option ID = 32]
9) Metrology is the study of

I eTanEd 9 9 58 F A5 27

[Question ID = 9][Question Description = 109_06_History_0CT22_Q09]
1. Chronolesy of colns

[Option ID = 33]
2. gtudy of weather

[Option ID = 34]
The measurement and arrangement of coins by weight

[Option ID = 35]
4. Study of metal

T T TSI
[Option ID = 36]
10) Who wrote Mushika Vamsha™

[Question ID = 10][Question Description = 110_06_History_0CT22_Q10]



-

Sandhvakara Nandi

TR T2

[Option ID = 37]
2. Atula

[Option ID = 38]
3. Bilhan

[Option ID = 39]
4 Kalhan

e L

[Option ID = 40]

) In which Pali canonieal text does Gautam Buddha stress the'need to protect cow

TeteTEe § F T e 9 5 ey g A S SAEaEa) e od 27

[Question ID = 11][Question Description = 111_06_History_0CT22_Q11]
1. Buttanipata

i

HoATIHE

P}

[Option ID = 41]
2. Pragyaparamita

[Option ID = 42]
3. Abhiddhampitaka

HIHTHTF

[Option ID = 43]
4. Asokavadana

[Option ID = 44]
12)  In Bhimbetka rock paintings which of the subject matter 1= not depicted

igsza 95 1= 0 Fefonad 3 | %19 =@ 999 25 = 965 #1722

[Question ID = 12][Question Description = 112_06_History_0CT22_Q12]
1. Hunting of birds

i T AT
[Option ID = 45]
2 Hunting of animals
AT F ATEE

[Option ID = 46]
3. Perching birds that Iive on grain
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[Option ID = 47]
4. Hunting of birds and animal both

[Option ID = 48]

13) Upavasza terminology used in Arthasastra of Kautilya. vefers to

Fiized % AUTPE | WAE T TEEE] (Aeeaigd 0 ° e AT 5 el ©
[Question ID = 13][Question Description = 113_06_History_0CT22_Q13]
1. Wealthy peaszant

[Option ID = 49]
2. Landlord

-

HEaHT

[Option ID = 50]
3. Tenant

FIAFT

[Option ID = 51]
4. Moneylender

[Option ID = 52]

14) ‘Manimegalal’ a Buddhist work was inspived by the logical system of which philosopher?

sig Fia ThmTeE el § 5 T et A T o e f?
[Question ID = 14][Question Description = 114_06_History_0CT22_Q14]
1. Ashwaghosha

[Option ID = 53]
2. Dinnaga
=
[Option ID = 54]
3. Nagagena
T
[Option ID = 55]
4. Gautam
3

[Option ID = 56]

15) Hathayas tribe were found in which of the following region?
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[Question ID = 15][Question Description = 115_06_History_0CT22_Q15]

1. Magadha
7Ty
[Option ID = 57]
2. Kosala

[Option ID = 58]
3. Matsava

Had

[Option ID = 59]

4 Avanti

Eop

qdd

[Option ID = 60]

16) Which among the following iz the work of Nathamuni?
Frtforfs & 7 = Terp TeER B 27

[Question ID = 16][Question Description = 116_06_History_0CT22_Q16]

1. Siddhitraya

[Option ID = 61]

2. Nyayatattva

e
[Option ID = 62]
3. Shmbhashyva
AT
[Option ID = 63]
4. Tattvaratnakara
[Option ID = 64]
17) The militia of Ahoms drew its strength from the organization of ‘paikas’ by “gzots” where each
membher was jeintlv responsible for militarv service for atleast
ST T4 MEE §RT 9SS0 F S | I WH Al 41 T T 9 A w9 ° 5 H &
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[Question ID = 17][Question Description = 117_06_History_0CT22_Q17]

1. 9months

o =

[Option ID = 65]
2. 19 months



12 7

[Option ID = 66]

3. 18 months
13 H1=7

[Option ID = 67]

4. 94 months

R =1

[Option ID = 68]

18) Who wrete the following lines deseribing his fall from the prestize:

‘God honoured me at the heginning and disgraced me at the end of my hfe’
AR T SV T g HEIEG A A9 9 S F oA § O U e

[Question ID = 18][Question Description = 118_06_History_0CT22_Q18]
1. T=sami

[Option ID = 69]
2. AMulla Ahmad Thattawil

e 3TFEE 2

[Option ID = 70]

3. Amir Khusrau

[Option ID = 71]
4. Barani

[}

AT

[Option ID = 72]

19)  The mansahdars were alloted ‘'mashrut’ in lieu of

[Question ID = 19][Question Description = 119_06_History_0CT22_Q19]
1. Inam

R
[Option ID = 73]

2. Revenue collection

[Option ID = 74]
3. General expenditure for war amimals

[Option ID = 75]
4 Conditional rank



[Option ID = 76]

20) Who among the following ruler of Kashmir faced Mahmnd of Ghazni?

FUHR F TICAE R § § R WS T o S e

[Question ID = 20][Question Description = 120_06_History_0CT22_Q20]
1. Kalasha

[Option ID = 77]
2. Samgramraja

[Option ID = 78]
3. Javasumha

[Option ID = 79]
4. Hariraja

[Option ID = 80]

21) Which traveller gave the following statement about female education in South India.

“I saw in Hanaur thirteen Schools for the instruction of givls. and twenty-three for boys. a
thing I have not seen anvwhere else™?

=zl uwA § =i o F A 1 [AeenEs 99 e aE F
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[Question ID = 21][Question Description = 121_06_History_0CT22_Q21]
1. Thn Battuta

75 A

[Option ID = 81]
Varthema
Esit

[Option ID = 82]
3. Barbosa

2.

[Option ID = 83]
4. Abdur Razzaq

[Option ID = 84]

22) Wha among the following wrote the fivst Malayalam version of Bhagavat Gita?

TaA AT 7 U] AT SR HeEngd 8 O e mE?



[Question ID = 22][Question Description = 122_06_History_0CT22_Q22]
! Madava Panikkar

[Option ID = 85]
2. Sankara Pamkkar

[Option ID = 86]
3. Rama Panilkkar

T TR

[Option ID = 87]
4. Cherussert

=

[Option ID = 88]

23) Name the saint who composed “Khar Boli Muktakas".

[Question ID = 23][Question Description = 123_06_History_0CT22_Q23]
1. Kabir

"

e

[Option ID = 89]
2. Dadu Dayal

[Option ID = 90]
3. Dhana

EEN
[Option ID = 91]
4. Rahim

[Option ID = 92]

24) ‘Samaya Matrika' of Kshemendra describes the adventures of ——— in various spheres
of the society.

HE & HEA W § WHT & (G09 &A 0 W e W el 9 Hed 27

[Question ID = 24][Question Description = 124_06_History_0CT22_Q24]
1. A Womnan

-

=l

[Option ID = 93]
2. A Prince

T=FHT

[Option ID = 94]
3. A Traveller



F

EIEL
[Option ID = 95]
4 A Warrior
T a
[Option ID = 96]
25) What was Padikaval Kuli under the Cholas?
=TT F TEA o WA TieEEe Fell 7 a?
[Question ID = 25][Question Description = 125_06_History_0CT22_Q25]

1. land tax

s

[Option ID = 97]
2. water tax

ELE

[Option ID = 98]
3. village tax

AL R 2

[Option ID = 99]
4. police tax

[Option ID = 100]

26) Qut of the following what did the Wardha Scheme for Education envisage?
F=iteiEa 5 = foen  =m = 21 99 A (FRE) 7 T e e e

[Question ID = 26][Question Description = 126_06_History_0CT22_Q26]

1. Seven years of basic education for rural children including vocational training in
village handicrafts
T EEASTE B eI T R e FA w0 AT S (o e Ty s e o |

[Option ID = 101]

Five vears of hazic education for urhan children

o el g i gy o |

[Option ID = 102]
Five vears of baszic education for rural children including vecational traiming in
village handicrafis

T FEeY § SIEETE® AT i S A 5 A S 6 e 9 99 1 geEn) o)

[Option ID = 103]
4. Three yvears of basic education for urhan children

[Option ID = 104]



27) Who said this in 1871 : “In my helief a greater calamity would not befall India than for

England to go away and leave her to herself.”

1871 ® T a1 41 "W T990 B e F 990 ° 99 A6 A6 T =9 6 5 WSS 54 4 951 062

[Question ID = 27][Question Description = 127_06_History_0CT22_Q27]
. Bal Gangadhar Tilak

[Option ID = 105]
2. Dada Bhai Naoroji

[Option ID = 106]
3. MNLG. Ranade

TH AT, THIE

[Option ID = 107]
4. Bipan Chandra Pal

i =% o
[Option ID = 108]
28) Who wrote ten chapters of his unfinished biography which he wanted to title “An Indian
Pilgrim™?
[Question ID = 28][Question Description = 128_06_History_0CT22_Q28]
. Capt. Mohan Singh

[Option ID = 109]
2. Aurobindo Ghose

S i

[Option ID = 110]
3. Bubhas Chandra Bose

[Option ID = 111]
4. Satvamurt

HeagIA
[Option ID = 112]
29) Where was the earliest suggestion to build a railway in India made in 18317
o 1831 #, YA § {5 5 FE AN g9 e 2w e

[Question ID = 29][Question Description = 129_06_History_0CT22_Q29]



. Calcutta

Feand

[Option ID = 113]
- Bombayv

oIE

[Option ID = 114]
3. Madras

T

[Option ID = 115]
4. Delh1

[Option ID = 116]
30) Who did not accompany Mahatma Gandhi when he went to Champaran in 18177

= G i 1917 | Haren1 M1 = |19 =g F6 49 917

[Question ID = 30][Question Description = 130_06_History_0CT22_Q30]
1. Babu Rajendra Prasad

[Option ID = 117]
2. Mazhar-ul-Hag

AT -T9-FF
[Option ID = 118]

J.B. Kriplani

5.3 Fe

[Option ID = 119]
4. Anmie Bésant

e

[Option ID = 120]

31) Maharaja Ranjit Singh's new army did not include which one of the following :
HERTS WA @E B A A FeieiEg § 8 TEe-uE w6 et 98] (9 | A

[Question ID = 31][Question Description = 131_06_History_0CT22_Q31]

" Biharis

[Option ID = 121]

2. Dogras

S

[Option ID = 122]
3 Gurkhas



Biiteei
[Option ID = 123]
4 Gujaratis

[Option ID = 124]

32) Who has been described as “The greatest exponent of Guerrilla tactics after Shivaji™?

[Question ID = 32][Question Description = 132_06_History_0CT22_Q32]
1. Balaj Vishwanath

HTEATHT TS

[Option ID = 125]
2. Balaji Baji Rao
T ATAE
[Option ID = 126]
3. BajiRaol

EIEikiCa

[Option ID = 127]
4 Yashwant Rao Holkar

[Option ID = 128]

33) Who rejected deindustrialization and claimed a significant economic advancement during
colonial rule in the 197 century?

1951 TE H PR AFERR STET e A SR e SR O gee A T

[Question ID = 33][Question Description = 133_06_History_0CT22_Q33]
1. Bipan Chandra

Tt =
[Option ID = 129]
2. Tapan Ray Choudhry

[Option ID = 130]
3. Morriz Davis Morris
HiE A 9

[Option ID = 131]
4. Toru Matsul

[Option ID = 132]



34) Towhom did Jyotiba Phule dedicate his book “Ghulamgivi™?
it e 7 S e e

[Question ID = 34][Questiqn Description = 134_06_History_0CT22_Q34]

1. Tothe good people of Britain

[Option ID = 133]
2. To the sood peaple of United States of America

FAFEE W2 AE AHEH F A= S H A

[Option ID = 134]
3. To the good people of India

[Option ID = 135]
4. Tothe zood people of France

[Option ID = 136]

35) Which among the following dynasty was the first to install the Kohinoor diamond in a
temple?

T8 Tr=tenad THEe J FEE 2R F IO TF Bt 8 Wideiad e

[Question ID = 35][Question Description = 135_06_History_0CT22_Q35]
1. Pandyas

U= =9

[Option ID = 137]
2. Hovsalas

ERE a9

[Option ID = 138]
3. Cholas

[Option ID = 139]
4. Kakativas

[Option ID = 140]
36) The Indian Sandhurst Committee was also known by which name?
7 3T=99 Hee FHA TR 5= A 1 i A e 42

[Question ID = 36][Question Description = 136_06_History_0CT22_Q36]
- The Peel Committee

[Option ID = 141]



2. The Macdonald Committee

5 .- ‘(r:, .—J- :

[Option ID = 142]
3. The Skeen Committee

[Option ID = 143]
4. The Hunter Commnittee

N -}
AT TR

[Option ID = 144]

37) Where was the name of the Hindustan Republican Association (HRA) changed to Hindustan
Socialist Republican Association (HSRA)?

o T W e ol TETETE (T W v) T wen e e meiee frfser tEiEE
(v 7| 37 ©) F =9 § g = oa?
[Question ID = 37][Question Description = 137_06_History_0CT22_Q37]
. Taj Mahal, Agra
IEi G " '—j h

[Option ID = 145]
2. @ila-i-Raipithora, Delhi

TR TN, 5
[Option ID = 146]
3. Firoz Shah Kotla Ground. Delhi

[Option ID = 147]
4. @Qutb Minar. Delhi

[Option ID = 148]
38) For nearly six months. Bhagat Singh wrote for Hindi journal Pratap’ under which Pen-
name?
TR ToE 9 ST W W1 o TRE 9eE T W WA A e g § feman?

[Question ID = 38][Question Description = 138_06_History_0CT22_Q38]

1. Kulwant
gA THE 3 ST D0 OTE 5% (%9 oo 9 ° Ta T9F Be 9w 8 mmEn?

[Option ID = 149]
2. Bukhwant

[Option ID = 150]
3. Balwant



EEnt

[Option ID = 151]
4. Satwant

[Option ID = 152]

39) By which Act was Governor General Council empowered to legizlate for the whole of British
territories in India?

foa sty g et S gfg w1 awe & o e e =g S e (Seez) F e
7?2

[Question ID = 39][Question Description = 139_06_History_0CT22_Q39]

1. Charter Aet 1813

T uEE — 1813

[Option ID = 153]
2.  Charter Act 1793

=TT TR - 1793

[Option ID = 154]
3. Charter Act 1835

e U - 1833
[Option ID = 155]
4 Pitt's India Act 17584
Toem st=m wwe - 1784

[Option ID = 156]
40)  Who was appointed as the Chalrperson of the Indian Cinematoeraph Committee in 19277

1927 B, VAT St GmiE % ASE F 909 T R T

[Question ID = 40][Question Description = 140_06_History_0CT22_Q40]
1. D.Y. Patil

[Option ID = 157]
2. Rajani Kant Sen

(a1 r' _q:r
[Option ID = 158]
3.V, Shantaram

[Option ID = 159]
4. T. Rangachariar

[Option ID = 160]



41) Consider the following :

(A)
(B)
(C)
(D)
(E)

Behlol Lodi was considered blessed by Savvid Affan at Samana with Delhi throne
Behlol Lodi invited Afghan leaders firom Roh-1-Kud to Delhi

To assert his supremacy. Behlol Lodi introduced Paibos towards the end of his reign
Behlol conguered and annexed Shargl kingdom in the Delli Sultanate

Behlol adopted the policy of accommodation towards Surs to strengthen his rule

Choose the correct answer from the options given below :

Ei=iEit-ni e el =

(A)  =Fele el B §F H AE A6 41 6 B9g S5 9 39 9§ 591 T 1 S e o 9|
(B)  wEenet o] 9 AEH A1 6 9 2 e F g ot e

(C) =7 Far=al W &9 55 F [0, S @il 3 @0F TETRE F 5E 8 99 F TS 6
(D) w= A I T ) A9F 5g] geaad O 91Ee |

(E)  #zele 9 394 95 1 052 FE F 90 g F i guee i i s |

T 750 T e 5 0 HE 390 R =999 I

[Question ID = 41][Question Description = 141_06_History_0CT22_Q41]
1. (A). (B) only

Fa (A). (B)

[Option ID = 161]
2. (B). (C) only

Fa7 (B). (C)

[Option ID = 162]
3. (A}, (B). (E) only

a4 (A). (B). (E)

[Option ID = 163]
4. (B). (E) only

=9 (B). (E)

[Option ID = 164]

42)

(A)
(B)
(C)
D)
(E)

Which of the following hills in India are famous for the Jaina caves?

Barabar Hills
Khandagivi Hills
Udayegiri Hills
Padana Hills
Ramshila Hills

Choose the-correct answer from the options given below :



WA H AR FF H GRS 69 T F e 16 27
(A) =T GRS

(B)  TETshTiE wEEl

(C)  =m3 i w=rs

(D) A1 TETE

(E)  Tieen 9RE

1= B T TS 0 W WE 39 = A

[Question ID = 42][Question Description = 142_06_History_0CT22_Q42]
1. {A). (B). and (C) only

e (A). (B) 3 (C)
[Option ID = 165]
2 (B). (C) and (D) only
e (B), (C) 317 (D)
[Option ID = 166]
3. {B). (C). and (E) only
e (B). (C) 317 (E)

[Option ID = 167]
4. (B)and (C) only

4 (B) 9 (0)

[Option ID = 168]

43) Which of the following titles were often used to refer to Ashoka?

(A) Devanampriva
(B) Chakravarti
(€) Arvaputra

(DY Mahazammata

(E) Devputra

Choose the most appropriate answer from the aptions given below :



g ® @ A ST S (o I T w6
(A)  TEAWE/EEE

(B) =l

(C) =HEE

(D) HEE

E) T

I f=n v ToweT 3 9 99 39 9 99 i
[Question ID = 43][Question Description = 143_06_History_0CT22_Q43]
1. {A). (B) and (D) only

s (A). (B) 37 (D)

[Option ID = 169]
2. {A). (B) and (E) only

Fael (A). (B) 37 (E)
[Option ID = 170]
3. (B)and (D) only
Fae (B) =7 (D)

[Option ID = 171]
4. {A). (B)and (D) only

A (A). (B) 317 (D)

[Option ID = 172]

44 3 ; P .
) The Hathigumpha inséription 15 known for the following reasons |

(A) Buddhist stupa

(Bl  Jina statue

(Ci King Kharawela
(D)  Buddhist Monastry
(E) Agrahara

Choose the most appropriate answer from the options given below :



(A)  WgEM
(B) TEagm

(Cy 7T mEEE
(Dy Hig =R

(E) HUER

BRI & et e = = i el - 0
[Question ID = 44][Question Description = 144_06_History_0CT22_Q44]
1. (A). (B) and (C) only
T (A). (B) 77 (C)

[Option ID = 173]
2. (B).and (C) only

Fa+ (B) 3 (C)

[Option ID = 174]
3. {A), (B) and (D) only

Fae (A), (B) 3 (D)

[Option ID = 175]
4. (A) and (E) only
= (A) FTA(E)

[Option ID = 176]

45) The Gupta empire had a very elaborate administrative system at the village level Which of
the hodies below are mentioned in the inscription of that peried.
(A) Ghatika
(B) Pancha-mandli
(<) Ashtakula-adhikarana
(D) Sabhamandala
(E) Tri-mandh

Choose the most appropriate answer from the options given below :



TR AEEY B A 9 SR A e s ol | 9 e 8§ I e e 5 g

R TR

(A)  =mEE
(B)  TEEsAl

(C)  FAEFA—STE

(D)  AIHSE
(E)  Fag=
1= Tau v TEET 5 B OE I 9 e

[Question ID = 45][Question Description = 145_06_History_0CT22_Q45]
1. (A) and (B) only

e (A) 31 (B)

[Option ID = 177]
2. (B).and (D) only

Fas (B) 31 (D)

[Option ID = 178]
3. (B) and (E) only

e (B) 3117 (E)

[Option ID = 179]
4. (B) and (C) only

Fa9 (B) #1(C)

[Option ID = 180]

46) Which of the following is/are correct?

(A) Kalhana's Rajtarangini details the history of the kings of Western India
(B) Rajendra-I was one of the most celebrated kings of the Chola Kingdom
(C)  Alvars were the Shaiva zaints of South India

() Nathamuni was a greaf teacher of Vaishnava tradition

{E) Vyasa composed the Bhagavadgita before he wrote the Mahabharata

Choose the corvect answer from the options given below :



fatetEs & @ FH-/E T8 2E?

(A)  HeEe 1 TSRO § 9T UnE IR F SieEd 1 A9 meEr 2 |
(B) = — I =T AT F wANTE Faays e 4 |
(C)  ITeEm =i 96E & 99 598 4 |

(D) MEHE 997 T F °EE 5EE A |

(E) =47 = gerqne foved & 9d Wil o 41 |

i Lot o = i e = = o e e - o e - L

[Question ID = 46][Question Description = 146_06_History_0CT22_Q46]
1. {A), (B) and (C) only

FAaeT (A), (B) 7 (C)
[Option ID = 181]
2. (A). (B) and (D) only
e (A), (B) # (D)
[Option ID = 182]

3. (A). (©) and (E) only
Fa7 (A), (C) #17 (E)
[Option ID = 183]

4. (B) and (D) only
Fae (B) #i (D)

[Option ID = 184]

47) Which of the following are correct?

{A)  Ahimea and Bhakti are the two mmportant features of the Bhagavata tradition

(B The Mahabharata establishes that Krishna and Vishnu are one in terms of thew
divimty

(C) Theravada Buddhism considers the Buddha as the God to be worshipped

(D} Dhammapada describes how a monk (bhikkhu) should lead his life in the Buddhist
Vihara

(E) Dharmachakrapravartana was the main objective of Buddha

Choose the correct answer from the options given below



Teferiga 7 & i 3 W F

(A)
(B)
(C)
(I

(E)

r

FRIGEA T7 TG FAT £ 5 T W F e A= i v S |

g 98 F1 FEaE g5 IS FIH 909 299 % 59 5E] 7 |

gras 97 sl 7 1k (e (Taeg) =i siig faew § Aw Sias 8 = e = |

T TAAA 45 g 3557E 17 |

-

4= fou T T 0 " TR 3 9 =ad e

[Question ID = 47][Question Description = 147_06_History_0CT22_Q47]
1. (A), (B). (D) and (E} only

Fad (A), (B). (D) =1 (E)

[Option ID = 185]
2. {A), (B). (C), (D)and (E) only

a5 (A). (B). (C). (D) it (E)

[Option ID = 186]
3. (A). (B) and (E) only

9 (A). (B) #17 (E)

[Option ID = 187]
4. (B). (C) and (D) only

Fa (B). (C) 37 (D)

[Option ID = 188]

48) Which of the following are correct?

(A)
(B)
(C)
(D)
(E)

Chi

The Jaina Sangha is the oldest religious order in the world

Svadvada is the central philozophy of Buddhism

Kautilva's Arthashastra deals only with the policies of generating wealth
The story of Shishupala 1s found in the Sabhaparva of the Mahabharata

Allama Prabhu was the teacher of Ramanujacharva

oose the correct answer from the options given below :



TrAfetEa & % %47 3 98 27

(A) 59 Ta v # T A aihE TEE e |

(B)  =i=aw dig 9H H FeaE 50 7

(C)  Fi2ed T A9 Fae 99 95 Fl Af4] o Faad = |
(D) Torsrm= =i e wEreEe g9 § IR SR |

(E) g1 7y TS F A g

1= Tgu o e | | uE 3 wE i,
[Question ID = 48][Question Description = 148_06_History_0CT22_Q48]
1. (A). (B). (€). (D) and (E) only

Fa (A). (B). (C). (D) =7 (E)

[Option ID = 189]

2. (A)and (D) only
A (A) 77 (D)
[Option ID = 190]
3. (A) and (B) only
Fa (A) 97 (B)
[Option ID = 191]
4. (C). (D) and (E) only
Faw (C), (D) A7 (E)

[Option ID = 192]

49 2 R ; s 5§
) Which of the texts form a cluster of Prasthanatray: in Hindu hiterary tradition?

(A) Brahmana texts
(B) Ramayana

(C) Brahmasutras
(D)  Upanishad

(E) Kalpasutra

Choose the correct answer from the options gziven helow :



{2 wil=eg W1 ® FH W 09 WA F A A

(A)  FTEHY
(B)y  THMET
(C)y w=EF
(D) TS

(E) Feg

I/ 27 T faEe | HE 39 F =994 HIA

[Question ID = 49][Question Description = 149_06_History_0CT22_Q49]
1. {A), (B) and (C) only

Fa (A). (B) 77 (C)

[Option ID = 193]
2. (B), (C) and (D) only

Fa (B), (C) 37 (D)

[Option ID = 194]
3. (C) and (D) only

3o (C) =1 (D)

[Option ID = 195]
4. {A). (B) and (E) only

Fa= (A). (B) 71 (E)

[Option ID = 196]

20) Which one 1s/are corvect about Indian National Army (INAY?

{A) The credit of orgamsing the base of LN.A. goes to Rash Biham Bose
(B) Capt. Mcohan Singh was an officer in the British Indian Army
(C) Subhas Chandra Bose reorganised the LN.A.

D) Subhas Chandra Bose set up the Arzad Hind Government (The Provisional
Government of Free India)

(E) The British Government of India charged the captured I.N.A. soldiers of "waging war
azainst the kinz.”

Choose the correct answer from the options given below :



AT YA SIS AT A (ETAE) F §R A A e w6 267

(A)  HAEUAT. T STEORYA B9 ° WaT F w1 AT 9 @eE A w1
(B) e HiE 197 TiEe QWdE 591 | U sArasm 2|

(C)  BYIT=m @ 7 ST, F GAE A

(D) HEITES W A ATAR (5e SR (TEAT Y T SR 5T 6 e A |

(E)  s7a $1 Tfze 9oFn 9 76 T A ., G W 56 F 9y T8 35 6 59 99 |

A 50 U Ty § A HE 3 1 =E e

[Question ID = 50][Question Description = 150_06_History_0CT22_Q50]
T (A). (B). (C). (D). (E) only

Fae (A). (B). (C), (D). (E)
[Option ID = 197]
2. {A). (B). (C), (D) only
F74 (A), (B). (C). (D)

[Option ID = 198]
3. (A), (B). (C) only

Fa7 (A). (B), (C)

[Option ID = 199]
4 (A). (B), (D) only

Fas (A). (B). (D)
[Option ID = 200]
51)  Out of the following which Indian members of the Viceror's Executive Council resizned in
Februarv. 1943

(&) M.S. Aney
(B) N.B. Jayakar
(C) H.P. Mody

(D Tej Bahadur Sapru
(E) Sucheta Eripalani

Choose the correet answer from the options given below :



= T w1943 1, T i FEwn) s F G aweE mee 1 e © o
(A) THEUE.TH

(B)  TA.HW, SEE

(C) =i

@) 7

(E) T Faem

= Tou e T B 5 WA I = A

[Question ID = 51][Question Description = 151_06_History_0CT22_Q51]
1. {A). (B) only

Faet (A) =7 (B)

[Option ID = 201]
2. (A). (B). (C) only

e (A), (B) #1 (O)
[Option ID = 202]

3. {A), (B) (C), (D) only
4+ (A), (B). (C) =7 (D)

[Option ID = 203]
4. (A), (B). (C). (D). (E) only

FaA (A), (B), (C). (D) =17 (E)

[Option ID = 204]

52) Which one is/are correct about Arva Samaj?

(A) Tt was founded by Mulshankar

(B) It was founded 1n 1873

(C)  The first Aryva Samaj unit was organized at Bombay
(D) The Vedag are the books of true knowledge.

(E) God 1s the primary source of all true knowledeze.

Choose the correct answer from the options given below :



HE THTE F A0 5 FE-91/H 5E 57

(A)  =HF = e A AT

(B)  THFI TOAT 873 F AT H EE A |

(C)  wrgETs i 999 =HE 793 § Wi i T
D) TEIATHFTILE |

(E)  Zvaw &t 903 79 = waieE A@E

Fr= 50 T e 8 I HE 39 9 99 e

[Question ID = 52][Question Description = 152_06_History_0CT22_Q52]
1. (A), (B), (C), (D) only

a9 (A), (B). (C) = (D)

[Option ID = 205]
2. (A), (B). (C) only

T (A). (B) #7 ()

[Option ID = 206]
3. (AL (Cy, (D), (E) only

=4 (4), (C), (D) 51 (E)

[Option ID = 207]
4. (A). (B). (C). (D). (E) only

F=4 (A). (B). (C). (D) 3 (E)

[Option ID = 208]

53)

What is/are correct about the Government of India Act. 19357

(A)
(B)
(Cy
(D)
(E)

Provision for an All-India Federation

Provision for responsible government with safeguards

Provision for separate representation of communal and other groups
Provision for a Federal Court

Provision for provineial autonomy

Choose the correct answer from the options given below :



WiEE T S, 1935 % SE § 41 6h afe 7

(A)  TF YIS 9EAE O 7 WEEH |

(Bl THHEI ATt SEEl A B W= |

(C)  TIWET=* 3% S TR % T9F WA # aEa |
(D) T AEE A = TETE |

(E)  TiE S 2 TEEH |

fra f2u T EEE] § B 9E I 0 99 A

[Question ID = 53][Question Description = 153_06_History_0CT22_Q53]
A (B). (O) only

Fae (A), (B) 37 (C)

[Option ID = 209]
2. (A).(B). (C). (D) only

=+ (A), (B). (C) =17 (D)

[Option ID = 210]
3 (A), (B). (O), D), (E) only
F=e (A). (B). (C). (D) 31 (E)
[Option ID = 211]
4 (AL (B)only
a1 (A) 77 (B)

[Option ID = 212]

54)
Which one 1s/are correct out of the following :

(A) V.D. Savarkar was a graduate from Fergussaon College

(B) V.D. Savarkar availed of Erichna Verma's fellowship offer and left for London in
June, 1806

(C) V.D. Savarkar established MNitra Mela at Nasik
(D) V.D. Savarkar wrote “The Indian War of Independence. 18577
(E) V.D. Savarkar became a member of the India House.

Choose the correct answer from the options given below :



frefertan 7 | FA-m/E 77 2727

(A) =S, HErE s e § = Y
(B) 1.1, T F T G6T % g 6l 99T =R A A 5 1906 § Wed = M

(C) 1251, T A ATEE | T A S SEAT T |

(D) .30 gErEe T g sivEE an AT $i=usa, 18577 AWE P el |

(E)  =1.21. Ig=rt 3591 51948 =% 9o & |

1 Tou o Tamen § | G 30 W =94 Hilan
[Question ID = 54][Question Description = 154_06_History_0CT22_Q54]
1. {A). (B). (C). (D) only

e (A), (B), (C) =11 (D)

[Option ID = 213]
2. (A (B). (C). (E) only

Fa7 (A). (B). (C) 517 (E)

[Option ID = 214]
3. (A). (B). (C). (D). (E) only

T3 (A). (B). (). (D) A1 (E)

[Option ID = 215]
4 {A). (B). (C) only

Fae (A), (B) 57 (C)

[Option ID = 216]

55) Which is/are correct ahout the Bombay Plan ?

{A) It took up the question of rapid economic growth
(B) It took up the question of equitable distribution

(C) It argued for the necessity of partial nationalisation
(D) It arvgued for a series of workers welfare schemes
(E) It opposed the necessity of the public zector

Choose the correct answer from the options given below :



A& AT () F AW § FE-mE AR
(A)  =od dig i e E e e T
(B)  SHH =raend SO U9F B Sar o |

(C)  Z9H I TEEF i ATTEFal F WA A |

(D) =98 40 & Foa0 TR F U GEe F T ] T

= oo 0 T 8 9 W I o = e

[Question ID = 55][Question Description = 155_06_History_0CT22_Q55]
T (A) (B). (C). (D) only

Fae (A), (B), (C) 2117 (D)

[Option ID = 217]
2. (&) (B).(C). (E) only

=== (A), (B), (C) #11 (E)
[Option ID = 218]

3. (A). (B). (C). (D). (E) only
= (A), (B), (C). (D) #7 (E)
[Option ID = 219]

4. (A). (B). (C) only
a9 (A). (B) 91 (C)

[Option ID = 220]

56) Which one isfave correct out of the fallowing :

(A) After the death of Guru Gobind Singh. leadership was assumed by Banda Bahadur

(B) Banda Bahadur stormed Samana in 1709

(C) Banda Bahadur collected revenues from Hiszar

(D) By December 1710. Banda Bahadur occupied the entire sarkar of Sarhind and several
parganaz in the savkar of Hissar

(E) Banda Bahadur was executed by the Mughal state in 1716

Choose the correct answer from the options given below :



E F FE-AIE T AR

(A) % ifEE fAE 1 HE F A S wE A 9

(B) w71 WETE - 1709 § WE1 W g |

(C) =% WET 3 FEW W e a1
(D) T55eF 1710 7% 521 S5 4 5y Wies W 391 =00 30 % 55 T W FA e |
(E)  @amergl g g 1716 ¥ HiG & 912 6% o = |

A Tou T T § H HE 30 o 4 i

[Question ID = 56][Question Description = 156_06_History_0CT22_Q56]
1. (A). (B). (C). (D) only

A= (A). (B). (C) 37 (D)
[Option ID = 221]
2. (A). (B). (C) only
FaH (A), (B) 317 (C)
[Option ID = 222]
3. (A). (B). (C), (E) only
Fa= (A), (B), (C) 31 (E)

[Option ID = 223]
4 (A). (B). (C). (D). (E) only

45 (A), (B). (C). (D) 311 (E)
[Option ID = 224]

57) Which one is/are correct about Singh Sabha Movement?

(A) It was founded in 1873
(B) It was founded in Jalandhar

() It planned to bring to the Sikh conununity the henefits of western enlightenment
through modern education

(D) It also countered the proselvtizing activities of the Christian missionaries as well as

Hindu revivalists
{E) It opened a network of Khalsa schools and eolleges throughout the Punjab

Choose the corvect answer from the options given helow :



faz = wEE ¥ A § TE-a/E w8 A2
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(B)  =HE T AR T 5
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[Question ID = 57][Question Description = 157_06_History_0CT22_Q57]
1. (A). (B). (C). (D) only

a1 (A), (B). (C) 37T (D)

[Option ID = 225]
2. (A). (B). (C) only

Fa (A). (B) 1 (C)
[Option ID = 226]

3. (A, (B), (C). (D), (E) only
Fa (A). (B). (C). (D) =1 (E)

[Option ID = 227]
4. (A). (C). (D). (E) only

Fa4 (A). (C). (D) 51 (E)

[Option ID = 228]

58)  Which is/ave correct in the following statements

(A) Rabindranath Tagore won the Noble prize in 1913

{(B)  Munshi Prem Chand wrote Sozi-Watan

(C) The novel Jalvai-1-Tsar modelled it2 hero on Vivekananda

(D) George V announced the revocation of the partition of Bengal at the Delhi Darbar
(E) Ghady movement hegan in 1913 in New York

Choose the correct answer from the options given below :



e 9 F@ A=/ TR AE?
(A)  TEHEAE TW A T 1913 § FEE TERT T A
(B) =i wHEn A AE-T-a e o |
(C) ST FEE-U-SAT B w9 T O (F) T |
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[Question ID = 58][Question Description = 158_06_History_0CT22_Q58]
1. (A). (B), (C). (D), (E) only

4 (A), (B). (C). (D) T (E)

[Option ID = 229]

2. (A), (B), (C). (D) only
F45 (A). (B). (€) 577 (D)
[Option ID = 230]

3. {A) (B). (Q). (E) only

a5 (A), (B). (C) =7 (E)
[Option ID = 231]

4. (A), (B). (C)only
Fa7 (A). (B) E7(C)

[Option ID = 232]
59) Which of these statements are correct
(A) Shaka administration continued largely along the Ilines of the Achaememd and

Seleucid systemin Iran

(B) The kingdom during Shaka was divided intc provinces, each under a military
governor called Mahakshatrapa

(C) Anocther official title was Meridrach. an officer in charge of designated area in Shaka
administration

(D)  The minting of some coins during shakas in joint names of two rulers meant that the

king associated himself with a ruler of lesser status
(E) Shaka kings took lesser titles as Samant

Choose the most appropriate answer from the options given below :



Tretertas ® 5 #F @ w0 T8 22

(A)

(B)

(C)

(D}

(E)

I WIEA T2 AW W S TEHES. A HegEs WO F SEEw A e w1
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[Question ID = 59][Question Description = 159_06_History_0CT22_Q59]
1. (A). (B). (C) only

A (A), (B) 5 (C)

[Option ID = 233]

(&), (B). (C). (D) only

Fa7 (A), (B), (T) 317 (D)

[Option ID = 234]

(A (B). (O). (E) only

Fa+ (A). (B). (C) 31 (E)

[Option ID = 235]

(A), (&), (D). (E) only

= (A), (O). (D) 7 (E)

[Option ID = 236]

60)

Which of theze statements are corrvect

(&)
(B)

(C)

(D)

(E)

The post-Mauryan centuries saw a great spurt in the minting of coins

The kings of the north-west imitated Greek. Roman and Iraman eoin-types

The increasing use of money did not drive out the barter systems. particularly in

rural areas in post-Maurya period

During post-Maurvaz diverse use of coins indicates the variant trading economies

Gold coins during post-Mauryas were Nishka & Suvarna and silver coins Shatamana

were in use

Choose the most appopriate answer firom the options given below :
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[Question ID = 60][Question Description = 160_06_History_0CT22_Q60]
1. (A), (B). (C) only

Fae (A). (B) #1 (Q)

[Option ID = 237]
2. (A (B). (C). (D) only

== (A). (B), (C) #r (D)

[Option ID = 238]
3 (A). (C). (D). (E) only

4 (A), (C), (D) 3 (E)

[Option ID = 239]
4. (A), (B), (C), (D). (E) only

4= (A). (B). (C). (D) 37 (E)

[Option ID = 240]

61 p ; ;
) Which one of these 15/are correct out of the following |

(A) Aurobinde Ghosh wrote ‘New Lamps for Old’

(B) ‘New Lamps for Old" described the Congress as being out of contact with the
Proletariat’

(C) ‘New Lamps for 0ld’ characterised Congress as unnational

(D) Aurohindeo Ghosh thought that the Congreszs was ‘dying of consumption’

(E) Ranade wrote ‘Es=ays in European Economics’

Choose the most appropriate answer from the options given below :



e 5 & e @ e A7

(A)

(B)

{C)

(D)

(E)

] S T A | hE 1 GEAE | AT A o wd H e R T A |
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[Question ID = 61][Question Description = 161_06_History_0CT22_Q61]
1. (A) (B), (C), (D) only

F3 (A), (B). (C) 57 (D)

[Option ID = 241]
2. (A). (B) only

A (A) 317 (B)

[Option ID = 242]
3. (B). (C) only

Fae (B) #7 (0)

[Option ID = 243]
4. (A). (B). (D) only

A= (A), (B) =51 (D)

[Option ID = 244]

62)

Which iz incorrect out of the following :

(&)

(B)

(€

(D)

(E)

The film Savkari Pash (Indian Shylock. Silent. 1925) was the first film to deal with
the explaitation of Indian pesantry by the monevlenders

The film Sant Tukaram. 1934 was adjudged one of the three best films at the Venice
Film Festival

The filin Naya Sansar (1943) showed a fearless journalist strugzle to protect his mght
to freedom of expression

The film Dr.Kotnis Ki Amar Kahani (1946) was about the work of Indian Medical
Mission sent to Japan

The =ong "Dur Hato d Dunive Walon, Hindustan Hamara Hair” was from film Kismet
(1943)

Choose the most appropriate answer from the options given below :
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B

(C)

(D)

(E)
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[Question ID = 62][Question Description = 162_06_History_0CT22_Q62]
1. {A), (B). (C). (D)only

a3 (A). (B). (C) 71 (D)

[Option ID = 245]

(A). (B). (C), (D). (E) only

49 (A), (B). (0). (D) 37 (E)

[Option ID = 246]

(A), (B), (C) (E) only

Fa (A). (B), (€) 317 (E)

[Option ID = 247]

(A). (B). (D) only

Fa= (A). (B) F7 (D)

[Option ID = 248]

63)

Which of these statements are carrect

(A)
{B)

(C)

(D)

(E)

The megahthic sites were centres of distribution and exchange
Many megalithic sites were located along important routes

Ports hike Arvtkamedu near Pondicherry were linked to hinterland through megalithic

activity

Excavations at Arikamedu revealed a range of Roman chjects such as a glass and

tahle ware

Amphorae were large coins of Roman emperors

Choose the most appropriate anawer from the options given below :
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[Question ID = 63][Question Description = 163_06_History_0CT22_Q63]
1. (A (B) and (C) only

e (A), (B) #HIT (C)

[Option ID = 249]
2. (A). (B) and (D) cnly

w4+ (A). (B) #t (D)

[Option ID = 250]
3. {A), (B). (C) and (D) only

T4 (A). (B). (C) 3 (D)

[Option ID = 251]
4 (A). (B). (D) and (E) only

=4 (A), (B). (D) 317 (E)

[Option ID = 252]

64) Which of these statements are correct

(A

(B)

(C)
(D)

(E)

Yogic exercizses where the alm 1= to control breathing is known as Pranayvama
Nagarjuna mentions that transformation of pralkyti (substance) by use of Osadhi and
Samadhi

Patanjali in Yozasutra states that siddhi can be attained by the application of a herb
Megasthenes also mentions that some form of medicine was practiced by ascetic sects

Sushrut was related fo astronomy

Choose the most appropriate anawer from the options given below :
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[Question ID = 64][Question Description = 164_06_History_0CT22_Q64]
1. (A). (B) and (C) only

Fa (A). (B) #7 (C)

[Option ID = 253]
2. (A), (B) and (D) only

e (A). (B) 3 (D)
[Option ID = 254]
3 (A). (B). (C) and (D) only

F= (A). (B). (C) 5 (D)

[Option ID = 255]
4. {A). (B) and (E) only

Fa9 (A), (B) =51 (E)

[Option ID = 256]
65) Which of these statements are correct

{A) The term gahapati in precise soelal terms means the affluent householder

(B}  The wealth of the gahapati was derived from his owning land and as wealthy

merchant

(&) In caze the wealth of gahapati was earned as merchant then he was called as a

setthi-zahapati

(D)  Thenr is a mention of Brahman gahapati as the Brahman who had received a

donation of land
(E) The gahapatl were al=o involved 1n army

Choose the most appropriate anzwer from the options given below :
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[Question ID = 65][Question Description = 165_06_History_0CT22_Q65]
- (A), (B) and (C) only

Far (A), (B) # (C)

[Option ID = 257]
2. (A). (€) and (D) only

Fa (A). (C) =0T (D)

[Option ID = 258]
3. (A), (B) and (E) only

Fa+ (A), (B) = (E)

[Option ID = 259]
4 (A). (B). (C) and (D) only

*a= (A}, (B). (C) #:r (D)

[Option ID = 260]

66)

Match List I with List TT
Tist T
{(A) Ashoka's Major Rock Ediet -V
(B) Ashoka's Major Rock Edict - VI
(C)  Ashoka's Major Rock Edict - VII
(D) Ashoka's Major Rock Ediet - VIII

(L)
(II)
(ILT})
(IV)

ListIT

Theory of kingship

Ashoka’s Dhamma vatra

Appointment of Dhamma mahamatras

Religious tolerance towards other sects

Choose the corvect answer from the options given helow:
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[Question ID = 66][Question Description = 166_06_History_0CT22_Q66]
1 (A)D). B)-(ID), (C)-(IIT). (D)-IV)

(A(D). (B)-(ID, (C(IID. (D)-(IV)

[Option ID = 261]
2. (AL, (B0, (T, (D-IV)

(A)-(III). (B)-(I). (C)=(II). (D)-(IV)

[Option ID = 262]
3. (A)(TD). (B)-(D). (C)-(IV). (D)-«ID)

(A)(II0), (By(D). (C)-(IV). (D)-(IT)

[Option ID = 263]
4 (AID. (B)-IV). (C)(T). (D)-(IIT)

{A)-(ID. (B)-(OIV). (C)=(I). (D)-(IIT)

[Option ID = 264]

®7)  Mateh List I with List IT
LastT ListII
(A) Bhagwati Sutra (I}  Story of Shunah shep
(B} Varuna Sukta (I} Describes about 16 Mahajanapadas
(C) Shabha Parva (ITT) Describes about Administration
(D) Shanti Parva (IV) Describes about Rajdharma

Choose the correct answer from the options given below:
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[Question ID = 67][Question Description = 167_06_History_0CT22_Q67]
T (A)ID, (B)-(0). (C)-IID), (D)-(IV)

(A)-(TT), (B)-(T), (C)«IIT). (D)-(TV)

[Option ID = 265]
2. (AT, (By-(ID. (C)-(IV), (D)-(IIT)

(AT, (B-ID, (C)IV), (D)-(IIT)

[Option ID = 266]
3. (A-(IT. (B)-(IV), (C)-(HI). (D)D)

{A)-(IT) (B)-(IV). (Cy«(IIL). (DI

[Option ID = 267]
4. (A(IV), (B)-(D), (Cr(II0), (D)-(IT)

(A)-(IV). (B)-(Ih. (C)-{III). (D)-(II)

[Option ID = 268]

68)  Natch List I with List II

List I List I
Authors Works
{A) Husain Ali Shah Furshi (I}  Maasira-Alamgiri
(B) Barani (I} Nisbat Namaishahivari
() Mustaid Ehan (III) Baharistan
{D) M\hivza Nathan (IV) Sana-i-Mublammadi

Choose the correct answer from the options given below:
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[Question ID = 68][Question Description = 168_06_History_0CT22_Q68]
T (A)-(I0), (B)-(IVy. (Ci-(D). (D)-(IID)

(A)-(IT). (B)-(IV). (C)-(I). (D)~(IIT)

[Option ID = 269]
2. (AYWIIL. (By-(IV). (C)«(Iy. (DN-(ID)

{A-IIT), (B)-(IV). (Cr(I). (D)-(1IT)

[Option ID = 270]
3 (A)D. (B)-(IV). (C)«ID. (D)-(T1I)

(A-(D). (B)-1IV). (C)=(1II). (D)-(11D)

[Option ID = 271]
4. {AW(IV), (B)-(I0), (C)-(II1), (D)-{I)

{(A)-(IV), (B)-(ILh. (O)-(I10). (D)-(D)

[Option ID = 272]

69)

Match List Twith List IT
Last1
Texts
tA)  Eitah Futulal Buldan (I

(B) Tazjvatu-l-Amsar wa Tairivatu-l-Asar (I)
{C) Tahafata-Nazin (11T

(D) MNhruju-l-Zahab (IV)

List IT

Description of events

Indian practise of feeding horzes with
roasted barlev. butter and cow's milk
Razias gender acting as a hindrance
for nobility to accept her as Sultan
Invasion of Sind by the Arabs in
712 CE

Greatness of Rashtrakuta as Balhara
King of India

Choose the correct answer from the options given below:
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[Question ID = 69][Question Description = 169_06_History_0CT22_Q69]

(A)-(D). (B)-

(IV), (C)-(IM). (D)-(II)

(AT (By-(IV). (C)-(TIL. (D)-{I1)

[Option ID = 273]

(A)IIT), (B)-(IV), (Cy-(IT). (D)-(I)

(A)-(IO0), (B)-{IV), (C)-(IT). (D)I)

[Option ID = 274]

{A)-IID), (Bi-(I), (C)-(I0). (D)-(IV)

(A)-(IID). (B)-(I). (€)-(II). (D)-(IV)

[Option ID = 275]

(A)(I). (B)-

(IIT). (C)-(IT). (Dy-(IV)

(A(D. (B)-(II). (C)-(II). (D)-(IV)

[Option ID = 276]

70)  Alatch List I with List IT

(A
B)
(C)
(D)

Tast I

Instrument

Scutch bow
Talika-yantra-chakra

Well wheel with pot zarland

Hour glass

List IT

Reference
(I  Rauzatu's Safa
(Iy Sirat-i-Furozshahi
(III) Bhavishva Purana
(IV) Miftahul Fuzala

Choose the correct answer from the options given belaw:
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[Question ID = 70][Question Description = 170_06_History_0CT22_Q70]

T (A)(IV). (B)-(TI). (Cy«(I). (D)-(II)

(AIV), (B)-(II0I). (C)-(I). (D)-{II)

[Option ID = 277]
2. (ATIV), (B)-(TID). (C)-ID), (D)-(T)

(A)-(IV), (By-(IIL). (Cy-(IT). (D)-(T)

[Option ID = 278]
3. (A(ID), (B)-(IIO), (C)=(T). (D)-(IV)

{A)-(II), (B)-(IIL), (C)-(I). (D)«(TV)

[Option ID = 279]
4. (AT, (B)-(IIT), (C)-(IV). (D)-(D

(A)-(ID), (B)-(III}. (C)-(IV). (D)-(I)

[Option ID = 280]

71 Mateh List I with List I

ListT
(A) Nanadeshi

{B) Uttarmerur

(C)  Mamigramam
(D) Ghatika

List OO

(I)) Merchant's guild having expansion
from South India upto Sumatra

(I College attached with temple in South
India
(ITT} A village of Brahmins

(IV) A merchant guld that
business

controlled

Choose the correct answer from the options given below:
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[Question ID = 71][Question Description = 171_06_History_0CT22_Q71]
1o (A(IID). (B)-(D), (C)~(IV). (D)-(II)
(AT (B)-(D. (T)-(IV). (D)-(ID)

[Option ID = 281]
2. (AT (B)-(III). (C)-(IV). (D)-(ILy

(A)-(D), (By-(IOIL). (CH+IV), (D)-{IT)

[Option ID = 282]
3. (A)(ID). (BY-(IV). (C)-(IIIy. (D)-(D)

(AV-(IT). (B)-(IV). (C)-(IIT). (D)-(I)

[Option ID = 283]
4 (A)-(D). (B}-(II), (C)-(IV), (D)<(I1T)

(AT, (B)-(ID). (C)-(IV), (D)=~(1II)

[Option ID = 284]

72) " Match List T with List IT
ListT List I
Books Authors
(A} DMughal Government and (I) ALS. Golwallkar
Administration

{B) The history and Culture of the Indian (II) Sr1 Ram Sharma
People (ed.)

(C) We or Our Nationhood Defined (ITT) R.C. Majundar
(D) Dz Keshav Bahram Hedgewar {(IV) Rakezh Sinha

Choose the correct answer from the options given below:
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[Question ID = 72][Question Description = 172_06_History_0CT22_Q72]
T (AT, (B)-(IID). (C)(D), (B)-(IV)
(A)-(IT), (B)-(I1I), (C)-(Dy, (D)-(IV)
[Option ID = 285]

2. (A)-D. (B)-(II), (C)-(IIL. (D-IV)

(AT, (B)-(IT). (C)-(I1IT). (D)-(IV)

[Option ID = 286]
30 (AN(ID). (B)-(IOI). (C)-(IV), (D)-(I)

(AID, (B)-(IIT, (CH-(IV). (D)-(Th
[Option ID = 287]
4 (AIV). (B)-(ID). (C)-(I). (D)-(I00)

(A)-(IV), (B)-(IT). (C)-(I), (D)-(11T}

[Option ID = 288]

73)  Mateh List I'with List IT

Tast1 Tast IT
(A) Shivajl Festival (I, 1914
{(B) Death of Gopal Krishna Gokhale (IT) 1895

{C) Bal Gangadhar Tilak's release from (III) 1915
Mandalay Jail

(D) Foundation of Benaras Hindu (IV) 1816
University

Choose the correct answer firom the options given below:
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[Question ID = 73][Question Description = 173_06_History_0CT22_Q73]
T (A, (B)«ID). (C)(III), (DH}-(IV)

{A)-(T), (B)-(IL), (Cy-(IIIy. (I)-(IV)

[Option ID = 289]
2. {A)(IID. (By-(II), (Cy-(I). (D)-(IV)

{A)-(TIT), (B)-(I1), (C)-(D), (D)-(IV)

[Option ID = 290]
3. (A)-(ID). (B)-(IIT), (C)-(IV ). (D)-(T)

(A(ID), (B)-(IID). (CH{(IV ), (DI

[Option ID = 291]
4. (A(ID). (B)-(IID), (C)-(I). (D-(IV)

{(A)-(ID). (B)-(III), (Ch-(T). (D)-(IV)

[Option ID = 292]

74) Match List I with List II
ListI ListIT
(A) Treaty of Bassein () 1799
{(B) Vellore Mutiny (I 1802
{C) Death of Nana Fadnaws (IIT) 1806

(D) Ranjit Singh captures Lahore  (IV) 1800

Choose the correct answer from the options given below:
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[Question ID = 74][Question Description = 174_06_History_0CT22_Q74]
1. (A)-(TI). (B)-(IT), (C)-(IV). (D)-(D)

{(A)(IOT), (BY-(IT), (Cy-(IV), (D(T)

[Option ID = 293]
2. (A)(ID). (B)-(II). (C)-(D. (D)-(ITV)

(A(ID), (By-(IID), (Ci+T), (D-(IV)

[Option ID = 294] _
30 (A)-(ITy. (BI«IID. (Ch-(IV). (D)-(I)

(A)-(IT). (B)-(II). (C)-(IV). (D)-(I)

[Option ID = 295]
4. (A)4D. (B)-(ID). (CH-(TID, (D)-(IV)

(A (D). (B)-(ID). (C)-(IIL). (D)-(IV)

[Option ID = 296]

75) Match Last T with List IT

(A)
(B)
()
(D)

Tast I

Simla Conference

Mutiny of Naval Ratings at Bombav

Cabinet Mission visits India

Elections for the Constituent Assembly held

(D

(I

(IV)

Choose the corrvect answer from the options ziven below:

LTist IT

February. 1946
June. 1945

July, 1946
March-June. 1946
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[Question ID = 75][Question Description = 175_06_History_0CT22_Q75]
1. (A)ID). (B)-(I). (C)-(II). (D)-(IV)

(A)-IT). (B)-(I). (C)-(IIT). (D)-(ITV)

[Option ID = 297]
2. (A)ID). (B)-(I), (C)-(IV), (D)-(I1I)

(A)-(IT), (BT, (C)-(IV), (D)-(III)

[Option ID = 298]
{A)-D). (B)-(ID), (C)-(I1I). (D)-(IV)

(A)-(I). (B)-(ID). (C)-(III). {D)-(IV)

[Option ID = 299]
4. (A)ID. (B)-(IV). (C)-(I). (D)<(I1D)

(AL, (By-(IN). (C)-4T). (D)-(T1I)

[Option ID = 300]

76)

Arrange the following events under the successive Chola rulers in correct order

(A)
(B)
(Ch
(D)

(E)

The invasion on Kandalur and Vilinam

Destruction of the fort of Eollipaklkai (Kulpak) under Western Chalukyas
Capture of Tanjore

Invasion of Ceylon and destruction of Anuradhapura

Naval Invasion of Srivijaya

Choose the correct answer from the options given below ;
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[Question ID = 76][Question Description = 176_06_History_0CT22_Q76]
. Q). (A), (D) (E). (B) only

Fae (C). (A). (D), (E) 377 (B)

[Option ID = 301]
2. (C), (D). (A (B) (E) only

4= (C). (D). (A, (B) #i (E)

[Option ID = 302]
3. (A). (O). (B). (D), (E) only

=9 (A). (C). (B). (D) 3 (E)
[Option ID = 303]
4 (B). (A). (©). (D). (E) only

9+ (B). (4). (Q), (D) # (E)

[Option ID = 304]

77 . . 3 g 3
) Pick the right sequence as per chronological order of the construction of following

monuments

(A) Entrance to the Dargah of Banda Nawaz
(B) Ibrahim Roza

() Charminar

() AMehtar Mahal

(E) Gol Gumbaz

Choose the corrvect answer from the options given below :
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[Question ID = 77][Question Description = 177_06_History_0CT22_Q77]
1. (D). (C). (B). (E). (A) only
wa (D). (C). (B). (E) 3T (A)
[Option ID = 305]
2. (€). (B). (D). (A). (E) only
Fa= (C), (B). (D). (A) 5 (E)

[Option ID = 306]
3. (B). (C). (A). (D). (E) only

F3+ (B). (C). (A). (D) 31 (E)

[Option ID = 307]
4.(Cy, (D), (A, (B), (E) only

=g (C). (D). (A). (B) 317 (E)

[Option ID = 308]
78) Arrange the following events chronologically starting from the earhest

(A) Delhi Urdu Akbhar. Delhi

(B) Vernacular Press Act

() Hicky's Gazette. Calcutia

(In Bombay Samachar

(E) Dadabhai Naoroji's Paper. Poverty of India’

Choose the correct answer from the options given below :
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[Question ID = 78][Question Description = 178_06_History_0CT22_Q78]
1. (€). (D). (A). (E). (B) only

Fad (C). (D). (A). (E) 317 (B)

[Option ID = 309]
2. (D). (E). (B). (C). (A) only

e (D), (E). (B). (€) 317 (A)
[Option ID = 310]
3. (A) (D). (B) (), (E) anly

Fa (A). (D). (B). (C) #1 (E)
[Option ID = 311]
4 (B). (A). (E). (C). (D) only

= (B), (A). (E). (C) 317 (D)
[Option ID = 312]

79) Arrange the following in chronelogical order

i4) Naynika
(B) Diddha

(C) Prabhavati
(I Rudramba
(E) Alkkadevi

Choose the correct answer from the options given below :



F=tees =1 FemarEr =EheE Fan

(A) T
B fmm
(C) =
Dy  F=rEn

(E)  ==mmedl

= foo el § 2 oF T T =me Fi
[Question ID = 79][Question Description = 179_06_History_0CT22_Q79]
1. (A). (B). (C). (D), (E) only

Fae (A), (B). (), (D) 317 ()

[Option ID = 313]
2. (B) (A), (O (E). (D) only

Fa (B), (A). (C). (E) 3 (D)

[Option ID = 314]
3. {A).(0). (B).(E). (D) only

Fae1 (A), (C), (B), (E) 311 (D)

[Option ID = 315]
4. (C). (A), (B). (D). (E) only

4= (C), (A), (B), (D) 317 (E)

[Option ID = 316]
80) Correct the sequence of following works (paintings) in chronological order under the Mughals

{A)  The Birth of the Prince

B Muzmahil treating the sorcerers

(C) Alkhar slaying Tiger

(D) Anwarl and a companion in a tree house
(E) Death of Tnayat Khan

Choose the correct answer from the options given below :
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[Question ID = 80][Question Description = 180_06_History_0CT22_Q80]
1. (B (A). (C). (D), (E) only

Fa9 (B). (A). (C). (D) 371 (E)

[Option ID = 317]
2. (A)(C), (E). (D). (B) only

F9 (A). (C). (E). (D) #7(B)

[Option ID = 318]
3. (A), (D), (C), (B), (E) only

Fae1 (A). (D). (C). (B) A (E)

[Option ID = 319]
4 (B). (D). (C). (A). (E) only

e (B), (D). (C). (A) 5T (E)

[Option ID = 320]
81) Arrange the following events chronologically starting from the earliest

{A) Trade Union Act passed

(B) The Kakori Train robbery committed
(C) Jallianwala Bagh Massacre

(D) Formation of Swaraj Party

(E) Hunter committee Report published

Choose the correct answer from the options given below :
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[Question ID = 81][Question Description = 181_06_History_0CT22_Q81]
1. (A (B). (D), (C). (E) only

Fae (A), (B). (D). () #7 (E)

[Option ID = 321]
2. (C). (E). (D). (B). (A) only

=4 (C). (E). (D). (B) HiT (A)
[Option ID = 322]

3 (B). (E). (D). (A). (C) only

45 (B), (E). (D). (A) 77 (C)

[Option ID = 323]
4. (D). (E). (A, (B), (C) only

a1 (D). (E). (A). (B) =T (C)

[Option ID = 324]

82)  Correct the sequence of Muhammad bin Tughlag's projects as provided by Baram in

Tarikh-i-Firozzshahi

(A) Proposed Expedition to Khorasan
(B) Transfer of Capital

(&) Taxation in Doab

(D) Toleen eurrency

(E) Qarachil Expedition

Choose the correct answer from the gptions given below :



L | Bt B (AL e 01 = R R LR Pt o s e A 3 B o e 2 = e 0 B ot e 1

(A)  TEIET T WEATE A
(B)  TrEEHl wiEe

(C) i o

(D) =

(E)  =iiae Aivad

i S 1 e o e B o e L - o 2 L

[Question ID = 82][Question Description = 182_06_History_0CT22_Q82]
1. (B). (D). (E). (A). (C) only

Fad (B). (D). (BE), (A) #:1 (C)

[Option ID = 325]
2. (). (B). (D). (A). (E) only

e (O). (B), (D). (A) #1 (E)

[Option ID = 326]
3. (). (D). (B). (A). (E) only
as (C), (D). (B). (A) =1 (E)

[Option ID = 327]
4. (B). (D). (A). (E). (C) only

@+ (B), (D), (A), (E) ()
[Option ID = 328]
83) Arrange the following events chronologically starting from the earliest
(A) Royval charter granted to English East India Company
{B) Death of Mughal Emperor Akbar
() Portuguese oecupation of Goa
(D) Establishment of French East India Company
(E) Establishment of The Dutch East India Company (VOC)

Choose the correct answer from the options given below



FETRET 92T AT H 9 T FOEAn ST i

(A)

(B)

()

(Dy

(E)

—

=freer 552 Sisa] F941 F T =187 TEH AT = E

R I G (L ot e s o e a1 - D =1 e Ll

[Question ID = 83][Question Description = 183_06_History_0CT22_Q83]
1. {(C). (B). (A). (D). (E) only

#F= (C), (B). (A), (D) #7 (E)

[Option ID = 329]

. (0), (A), (E); (B). (D) enly

a9 (C). (A). (E). (B) 5t (D)

[Option ID = 330]

- (B). (C). (E). (A). (D) only

Fae (B). (C). (E). (A) 31 (D)

[Option ID = 331]

- (B). (D). (E). (C). (A) only

F99 (B). (D). (E). (C) 317 (A)

[Option ID = 332]

84)

Arrange the following events chronologically starting from the earliest

(A)
(B)
(C)
(D)

(E)

Euka Movement in Punjah

Surendra Nath Banerj disqualified for the L.C.S.
Poona Sarvajanik Sabha formed

India League founded at Calcutta

Swanmi Dayvanand Saraswati laid the foundation of the Arva Samaj at Bombay

Choose the correct answer from the options ziven below :



ATy S 1 WS TEel 8 90 T RehAEan S R
(A) T H TR S

(B) oD AY w1 F ST H VA T A amha R

(C) 91 TS T S

(D) Tl B SIS =0T 1 T

(BE) =l =3y Tt 9 @9 9 9 oura 4|

Fr= 50 0 T 5 W HEl T =999 A

[Question ID = 84][Question Description = 184_06_History_0CT22_Q84]
1. (AL (B). (D). (E), (€) only

a9 (A). (B). (D). (E) 5 (C)

[Option ID = 333]
2. (B), (A), (E). (D). (C) only

Fas (B). (A), (E). (D) 517 (C)

[Option ID = 334]
3. (0). (B). (A). (E). (D) only

9 (C). (B). (A), (E) 31 (D)

[Option ID = 335]
4. (D). (©). (A). (B). (E) only

Fa+ (D). (C). (A). (B) 37 (E)

[Option ID = 336]

85 ; i . :
) Arrange the following events chronologically starting from the eavhest

(A) Treaty of Surat

iB) Convention of Wadgaon
() Treaty of Mangalore
(D) Treaty of Purandhar
(E) Treaty of Salbal

Choose the correct answer from the options given below ;



1.

FreAfeiEs = %1 958 T5edl 9F F - FIeOAEaAn Saatem Fia

(A)
(B)
(C)
(D)

(E)

.
A =Y

g =i

A fon T e § W wE S = e
[Question ID = 85][Question Description = 185_06_History_0CT22_Q85]
(C). (D). (E). (A). (B) only

Fa= (C). (D). (E). (A) 517 (B)

[Option ID = 337]
(D). (E). (A). (Bl (C) only

2.

Fa4 (D). (E). (A). (B) 317 (C)

[Option ID = 338]
3. (A). (D), (B). (E). (C) only

F4e (A), (D). (B). (E) €7 (C)

[Option ID = 339]
4. (B). (C). (D). (E). (A) only

a7 (B). (C). (D). (E) 3 (A)

[Option ID = 340]

86)

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as

Reason R

Assertion (A) : Chauri Chaura event 1s being held responsible for delaving the attainment
of Swaraj as envisaged 1 1920

Reason (R) : The idea of Swara] was noi clearly defined as asserted by many

contemperaries

In the light of the above statements. choose the most appropriate answer from the options

@ven below



#1971 F94 f5u o E: v Al9wE (Assertion A) F =9 § {@igd # Al TH 3 % #00 (Reason R) %

=Y H;

yrqa,D_]::; (_‘.'Ji.} u

7% (R) :

FH-=9 921 1920 F 99 O S=1ih T WiE O =ed & w0 SeEl 2 el
2

T=ATH =W TS AR A 9 A= 9 ® S GRS A
E Gl

THTF H2F F A |, A 0 e | | w30 5 6 99 i

[Question ID = 86][Question Description = 186_06_History_0CT22_Q86]
1. Both (A) and (R) are corvect and R 12 the correct explanation of A

(A) 3T (R) 51 T8 7 =1 (R), (A) =hi Tl =gm=n &

[Option ID = 341]

2. Both (A) and (R) are correct but B 13 NOT the correct explanation of A

(A) 3 (R) =1 F#1 2, =114 (R). (A) F1 771 =men 77 2

[Option ID = 342]

3. (A) is correct but (R) is not correct

(A) T 7 7= (R) 2481 731 7

[Option ID = 343]
4.

(A} 1s not correct but (R) 1s correct

(A) T 75 2 =0 (R) 75 2

[Option ID = 344]

87) Given helow
Reazon R

Assertion (A) :

Reasons (R) :

In the light
below

=9 9;

HraEE (A)

7F (R) :

F: TF F9FUT (Assertion A) F F4 § T=hEd 7 A TH TEE # Fr0 (Reason R) F

are two statements: one 15 labelled as Assertion A and the other 1= labelled as

the defeat of Dahir

Al Bawarji were the dreaded pirates in Sind who plundeved the ship
destined to the Cahph and Dahir showed hiz imahlitv to pumsh

Al Bawarjis

of the above statements. choose the correct answer from the options glven

-1
!lll-..

12 3. ¥ wees fom wiem 3 Toeg w0 aaenv B Tees aiomsesy o #1 e

|

o

A A T T AT T e 4 S WE O AW A Sl 9 w6
3T S F Grsa A 0 e SEEd o |

TN FUE F A H, A9 50 70 [9ea] § 5 TR 39 6 =99 I

Sind was invaded by Mchammad bin Qasin in 712 CE which resulted in



[Question ID = 87][Question Description = 187_06_History_0CT22_Q87]
1. Beth (A) and (R) are true and (B) 1s the correct explanation of A

(A) T (R) =M1 523 2 #17 (R). (A) =it =71 = 2

[Option ID = 345]
2. Both (A) and (R) are true but (R) 15 NOT the correct explanation of A

(A) AT (R) =1 59 7, =rea (R), (A) =i =81 =iwey =17 2

[Option ID = 346]
3. (A) is true but (R) 1= false

(A)Be 2, =% (R) 3/9eT 2
[Option ID = 347]
4. (A)is false but (R) is true

(A) 99 2. FFA (R) T3 3
[Option ID = 348]

88) (Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Aszsertion (A):  James Mill described the ancient perod of Indian History as the Hindu
period and the Medieval period as the Mushim period

Feason (R) : He failed to characterise the modern period as the Christian period

In the light of the above statements. choose the correet answer from the options given

below

479 o1 9 T30 T 7 OF AWHE (Assertion A) % =9 H Toad & A7 el 5% F0 (Reason B} &

=1 H;

AR (A T e A 9EE 3EEE F TEE we R R W ST BerEe # A e F
=9 9§ =i =

7% (R) 6 ATIEF T H SEE Fie A6 FA |

TUITE B9 o SO H, A9 160 0 {aFeai § 5 981 39 6 9949 i
[Question ID = 88][Question Description = 188_06_History_0CT22_Q88]
1. Both (A) and (R) are true and (R) is the correct explanation of A
(A) HT (R) =M1 Iex 7 @ (R). (A) Fi wfr=nen &
[Option ID = 349]
2. Both (A) and (R) are true but (R) is NOT the correct explanation of A
(A) 31T (R) =1 @ea 7, = (R), (A) 1 921 =90 75 7

[Option ID = 350]
3. (A} 1s true but (R} is false

(A) =g 2, =i (R) 9879 2

[Option ID = 351]



4. (A) iz falzse but (R) 1= true

(A) 3797F 2, =4 (R) &3 2

[Option ID = 352]

89) Given below are two statements:

Statement (I) : The Chaurl Chaura oécurred on the 42 Fehruary, 1922

Statement (I} :  The Chauri Chaura occurred on the 5% February. 1922

In the hight of the above statements. choose the most appropriate answer from the options

eiven below

= 71w Tom T F

F29 (I) : S-S T 04 FET, 1922 F =i
w2 (ID); FHI-F/1 T2 05, T, 1922 F afe 5
IR F F AR G, A9 50T m@Een | F 59E I 5 F 99T A

[Question ID = 89][Question Description = 189_06_History_0CT22_Q89]

1. Both Statement I and Statement IT are correct

A (1) 310 (1) o1 =9 2
[Option ID = 353]
Both Statement [ and Statement IT are incorrect
e (1) 3 (1) =/ T 2
[Option ID = 354]
Statement I is correct but Statement II 1s incorrec
T (1) T8 7, =i w2 (1D 7 2
[Option ID = 355]
Statement I iz incorrect but Statement IT is correct
T () T 7, e e (D) ER E

[Option ID = 356]

90) Given below are two statements:

Statement (I):  The Harappans did not believe in animism

Statement (IT) : No temples have been found at any Harappan sites

In the lizht of the above statements, choose the correct answer from the options given

below



Fr 71w fou w3

o (1) : EswEE AErEE ¥ A w4 |
w4 (I el i Teom w3= § TRET |G 1 =51 T8 9E we

THEE FUT F F °, A= T e 0w o 39 5 == Fiw

[Question ID = 90][Question Description = 190_06_History_0CT22_Q90]

1.

2.

3.

4.

Both Statement I and Statement I are true

F2 (I) 5w (ID E_T o9 2

[Option ID = 357]
Both Statement [ and Statement II are false

Fe (D) 517 (1D 591 s =
[Option ID = 358]

Statement I is true but Statement IT is false
e (D) @ 2, vl wa (1) 380 7

[Option ID = 359]
Statement I is false but Statement 1T is true

2 (1) 550 7, @ wae () &0 7

[Option ID = 360]

Topic:- 6_SH1_PART_B_SET1

1)

Shall we ostrich-like bury our head and ignore this original contemporary material in the
Marathi languasge and base our conclusions on writings. of distant British and Dutch
merchants whose trade was thrown in confusion by Shivaji's revolt for the Liheration of his
homeland. or on the Mushm chronicles which breathe antipathy to the Hindu rebels in every
sentence? Vincent Smith and hiz followers hawve given a warped wview of Maratha
administration as 1t ohtained in the homeland. The time has come to challenge the Vincent
Smith School postulates and cultivate a correct perspective.

T 7 QI F TE A T F G WS w5 S e W W I0eed 39 e seee was S
FI S H G A A e e e o == snwten F1 e ((hE) Wi #e G
2 1 T T N 1 e 1 o e G 21 i 20 L o e T 2 = Bl B o e T e B L B 0 | e
T Al T AT O T e A B TRy SEA kU G50 50 24 w0 oA Eee fay oaw
T AT WE TAEE F A H AE T 9 9% @ § e ¢ o g e F W o
o 2 | Tz o o (TF) S ATIanHAl 1 AT 24 #H0 HE AgE 1 e 0 R 569 9l

T2

The sources on Maratha history supplemented by Peshwa Diaries” and the “selections from
the Peshwa daftar has been extensively used by

ol SEVE #Hi 99ET A J =S4 g @90 5E1 SAeE % A F S0 =9 s R S99

o e B

[Question ID = 91][Question Description = 191_06_History_0CT22_Q91]

1.

G.5. Adhikar



., SR

[Option ID = 361]
G.S. Sardesai and Wad

[Option ID = 362]
Percival Spear

[Option ID = 363]

4. Umesh Ashok Kadam

1.

2)

[Option ID = 364]

Shall we ostrich-like bury our head and ignore this original contemporary material in the
Marathi language and base our conclusions on writings. of distant British and Dutch
merchants whose trade was thrown in confusion by Shivaji's revolt for the Liberation of his
homeland. or on the Mushm chronicles which breathe antipathy to the Hindu rebels in every
sentence? Vincent Smith and hiz followers have given a warped view of Maratha
administration as it ohtained in the homeland. The time has come to challenge the Vincent

Smith School postulates and cultivate a correct perspective.

AT 7 A F TE A T A WS A S A o W Ieed 9 g "eee was "
e B i et o T G e 2 5 T O L ot ol T = = S e i o B M =
iR Il T TR FOT (s Tod 9§ (R SE & 0iG 959 W R oA ¢ feEe g aw
T FTTHI WS TEA F AW R OSSO 97 39 a9 A (el 7 369 SEd TER F EEW w9
e 2 | Tz T o (TF) S ATIamEEl w1 A 24 #0 HE AgHl 1 e 0 R G5
gell

A

K

Of the following, who cbserved with a bias that “Marathas failed to 1ise above the level of
plunderers”

= £

ETetEe | | e garEEe w6 J e o w0 % w0 5 1 e e

[Question ID = 92][Question Description = 192_06_History_0CT22_Q92]

Lee-Warner
==

[Option ID = 365]
Eenneth Jones

[Option ID = 366]

3. Eric Stokes

[Option ID = 367]

Vincent Smith and Percival Spear

[Option ID = 368]



3)

Shall we ostrich-like bury our head and ignore this original contemporary material in the
Marathi lansuage and base our conclusions on writings. of distant British and Dutch
merchants whose trade was thrown in confusion by Shivaji's revolt for the Libheration of his
homeland. or on the Mushm chronicles which breathe antipathy to the Hindu rebels in every
sentence? Vincent Smith and hiz followers have given a warped wview of Maratha
administration as 1t ohtained in the homeland. The time has come to challenge the Vincent
Smith School postulates and cultivate a correct perspective,

T 7 QI F TE A T A WS N Sl e W W Seea 9 e e was S
F1 AALE F G A A e s fwiEe s == st fi Fioa (59E1) W i 9
SO H EETA Gl mmwgﬁﬁm{wmﬁmwﬂu TEG = A T T A4 dEE
R I T IR FT (o oA A § (R SEE & 0iG 959 R oA ¢ e g oaw
T ATTH W A F AN R AE 6 9 % e A e R e G e F W o
T 2 | Tz o o (TF) S ATIURHAl w1 A 24 #H0 FE 259l 1 e R 56

T2

On the changing organization of Maratha armies indigenous sources have been used

extensively by

AT T F HEA 1 UERA % a1 0 530 =il 1 SAE w9 S S G 5 22

[Question ID = 93][Question Description = 193_06_History_0CT22_Q93]

1.

3.

4)

Jadunath Sarkar and A.R. Kulkarni

[Option ID = 369]
AC. Benert

n [a
Lies IRt |

[Option ID = 370]
P. Mukherj

i, Tt
[Option ID = 371]
D.E. Gadgil

[Option ID = 372]

Shall we pstrich-like bury our head and ignore this ariginal contemporary material in the
Marathi language and base our conclusions on writings: of distant British and Dutch
merchants whose trade was thrown in confusion by Shivaji's revelt for the Liberation of his
homeland. or on the Mushm chronicles which breathe antipathy to the Hindu rebels in every
sentence? Vincent Smith and his followers have given a warped wiew of Maratha
administration as it obtained in the homeland, The time has come to challenge the Vincent
Smith School postulates and cultivate a correct perspective.

AT T F TR A G H G WS T S Al e § S0 36 e auEer mas S
'ﬁlmﬁrmﬂvﬂmmﬂwfm?—r SR =9 A F HE (FE) WS
S HI EETA gl ﬂmmwg%ﬁmﬁvmﬁmmma =L R e B T o I e |

et o e e Tl e i e e | it 1= e e = i B o B L o

T ST WIS TR F A0 0 AW 97 9% a9 ° (el 2 o068 994 TEE F EEE 6 g
TR



Chronicles in Maratha history an important primary source of composition are known as

T SR B gAT S T HEee MAHEE S H A6 A, 35 76 F § I 56 7 -

b
[Question ID = 94][Question Description = 194_06_History_0CT22_Q94]
1. Copper plate

iR E

3)

[Option ID = 373]
Potha

o, W |

T
[Option ID = 374]
Bahi

-

e

[Option ID = 375]
Bakhars

[Option ID = 376]

Shall we ostrich-like bury our head and ignore this original contemporary material in the
Mavathi language and base our conclusions on writings: of distant British and Dutch
merchants whose trade was thrown in confusion by Shivaji's revelt for the Liberation of his
homeland. or on the Mushim chronicles which breathe antipathy to the Hindu rebels in every
sentence? Vincent Smith and his followers have given a warped wiew of Maratha
administration as it obtained in the homeland. The time has come to challenge the Vincent
Smith School postulates and cultivate a correct perspective.

AT FE T F TR A G H A WS T A Al e § S0 39 g AeEer meas S

e i

I T S e T e e e 2 Tl T Ll A e T = e e e Tl e B B B e
et e e T e i i | i e e T i B R e O e A
TTF ST WS ONEA A1 B AT 6 9% 39 TEe9 § Hoidl ¢ 26 (9 W0 & EEn wl s

T 2

Author of the following passage 1=

[Question ID = 95][Question Description = 195_06_History_0CT22_Q95]

1.

Randolf Cooper

[Option ID = 377]
AR. Kulkarm
TS, hed |
[Option ID = 378]
G.S. Adhikan
S1.TH, ATTERE

[Option ID = 379]



4.

R.C. Majumdar

[Option ID = 380]

Topic:- 6_SH1_PART_C_SET1

1)

On conquering Kalinga the Beloved of the Gods felt remorse. for when an independent
country is conguered the slaughter. death and deportation of the people 1= extremely
grievous to the Beloved of the Gods and weighs heavily on his mind. What 1s even more
deplorable to the Beloved of the Gods. is that those who dwell there. whether brahmanas,
shramanas. or those of other sects. or householders who show obedience to their teachers
and behave well and devotedly towards their friends. acquaintances. colleagues, relatives.
slaves, and servants. all suffer viclence. murder and seperation from their loved ones...
Today if a hundredth or a thousandth part of those people who were killed or died or were
deported when Kalinga was annexed were to suffer stmilarly, it would weigh heavily on the
mind of the Beloved of the Gods.... The Beloved of the Gods considers victory by dhamma to
be the foremost victory....

1.

Fie 9= W IV F WACE F AR 5 | OF WA o W 9sE W FH F = A A we,
it fAaee v F T ﬂ—ﬁf’:ﬁﬁ?ﬂi* it 30 W9 W OUET UHE Sl A | A S 2T
1L 11302 e T o e | L= 113 e 2 e S A A o e | o P e B e B A - o M L e e o e e 2
= AT 2 TR W A9 O F i T 9 S S0 SEEE TS F0 ¢ An 39 o, g,
HEe ], HeEEl, ol ${ A § i JHNE 919 TEd B, 4 a4 EEn, we S 99 EsE | s
H I wE H wAIEd 241, A1 97 3997 & WHGE F G 9 65 T W9E SR | SvEt 4§ wEE 9e g
Above mentioned passage which deals with Asheka's Kalinga vietory belongs to which Rock
Ediet

T AT SE F T e T Eiag Sa WS e T ey 2 7

[Question ID = 96][Question Description = 196_06_History_0CT22_Q96]
11% Major Rock Edict

114 T, P

[Option ID = 381]

12® Major Rock Edict
124t geg Teme

[Option ID = 382]

3. 13® Major Rock Ediet

[Option ID = 383]

4. 10® Major Rock Edict

[Option ID = 384]



2)

On conquering Kalinga the Beloved of the Gods felt remorse. for when an independent
country iz conguered the slaughter. death and deportation of the people 1s extremely
grievous to the Beloved of the Gods and weighs heavily on his mind. What 1s even more
deplorable to the Beloved of the Gods. 1z that those who dwell there. whether brahmanas.
shramanas. or those of other sects. or householders who show obedience to their teachers
and behave well and devotedly towards their friends. acquaintances. colleagues. relatives.
glaves, and servants. all suffer viclence. murder and seperation from their loved ones...
Today if a hundredth or a thousandth part of those people who were killed or died or were
deported when Kahnga was annexed were to suffer stmlarly, it would weigh heavily on the
mind of the Beloved of the Gods.... The Beloved of the Gods considers victory by dhamma to
be the foremost victory. ...

ST a9 F WEhE e 9IS a6 B S 5 99 W TR UHE Sl 2 | S e Sy #
HeF A, HE, Tl A S i SENA 0T TEd B, 3 a2 L, wen dh ww e A s
=1 591 Se B ... | ATH T 01 T SE B AY9E SR w0 6 A S9E manal g § e 9w
T I R F wAIEA 241, A1 97 99 & WA F G 9 *5A T U9E SR | SvEr F wEiE 9e g

Kalinga region came under which provinee dumng Ashoka

[Question ID = 97][Question Description = 197_06_History_0CT22_Q97]
- Ujjain

2.

3.

[Option ID = 386]

[Option ID = 385]

Tosali

o

Taxla

‘.

[Option ID = 387]

4. Buvarnagiri

3)

[ el

[Option ID = 388]

On conquering Kalinga the Beloved of the Gods felt remorse. for when an independent
country iz conguered the slaughter. death and deportation of the people 1s extremely
grievous to the Beloved of the Gods and weighs heavily on his mind. What 1z even more
deplorable to the Beloved of the Gods. is that those who dwell there, whether brahmanas,
shramanas. or those of other sects. or householders who show obedience to their teachers
and behave well and devotedly towards their friends. acquaintances. colleagues, relatives.
slaves, and servants. all suffer viclence. murder and seperation from their loved ones...
Today if a hundredth or a thousandth part of those people who were killed or died or were
deported when Kahnga was annexed were to suffer stmlarly, 1t would weigh heavily on the
mind of the Beloved of the Gods.... The Beloved of the Gods considers victory by dhamma to
be the foremost victory. ...



Fier HoT W SV F WA F A= 5 | OF WA o7 W @9 9H 7 F e e i wen, 59
T AT v F WENE W S 9IS A P S T 9% W TR UHE S 2 | W W SvEE E
HeER ], HEtee, Tl SR e F O gEa o v 7, 3 2 T wen AR ww T | e
T T TR F wAIEA 541, A1 A% T F THGE F G T a5 T U9 SO | 9E F WEE a5 g

Ashoka abandoned the policy of physical occupation in favour of eultural conguest — both of
these are called as

el e L N e e e R | e o B 2 e e o M B 1 e 1 e 1 2

[Question ID = 98][Question Description = 198_06_History_0CT22_Q98]

1.

4.

Dhammaghosha and Shaszanas

[Option ID = 389]
Bherighosha and Dhammaghosha

[Option ID = 390]
Samskara and Dhammaghosha
I{.-z-.’:irii 3:1::}1— m‘j'l"—'{

[Option ID = 391]
Samskara and Bherighosha

[Option ID = 392]

4)

On conquering Kalinga the Beloved of the Gods felt remorse. for when an independent
country iz conguered the slaughter. death and deportation of the people 1s extremely
grievous to the Beloved of the Gods and weighs heavily on his mind. What 1s even more
deplorable to the Beloved of the Gods. is that those who dwell there. whether brahmanas,
shramanas. or those of other sects. or householders who show cbedience to their teachers
and behave well and devotedly towards their friends. acquaintances. colleagues. relatives.
glaves, and servants. all suffer viclence. murder and seperation from their loved ones...
Today if a hundredth or a thousandth part of those people who were killed or died or were
deported when Kahnga was annexed were to suffer stmlarly, it would weigh heavily on the
mind of the Beloved of the Gods.... The Beloved of the Gods considers victory by dhamma to
be the foremost victory. ...

37 fFaEe v F wEhE W s 9IS a6 P S 5 9 W TR U9 Sl 2 | S W SvaE #
HE R, HElaE, Tl S S F Ui gENE o9 gl w5, 3 el EEn, aen @0 ww mEee 3 e
T = wE F Wi 297, A1 9% 9 F WHGE F G4 T 957 750 T9E S | S5 F wHiE 9 g

Ashoka adopted Buddhism as his personal faith which 1s mentioned in



[Question ID = 99][Question Description = 199_06_History_0CT22_Q99]

1.

Taral Edict
TE =

[Option ID = 393]

2. Major Rock Edict XIIT
77, Forererg XITT
[Option ID = 394]

3. Bhabru-Bairat Rock Ediet

b R ER M et

[Option ID = 395]

4. Major Rock Edict V

5)

[Option ID = 396]

On conquering Kalinga the Beloved of the Gods felt remorse. for when an independent
country 1z conguered the slaughter. death and deportation of the people 1= extremely
erievous to the Beloved of the Gods and weighs heavily on his mind. What 1s even more
deplorable to the Beloved of the Gods. is that those who dwell there. whether brahmanas,
shramanas. or those of other sects. or householders who show ebedience to their teachers
and behave well and devotedly towards their frends. acquaintances. colleagues. relatives.
slaves, and servants. all suffer viclence. murder and seperation from thewr loved ones...
Today if a hundredth or a thousandth part of those people who were killed or died or were
deported when Kalinga was annexed were to suffer stimilarly, it would weigh heavily on the
mind of the Beloved of the Gods.... The Beloved of the Gods considers vietory by dhamma to

be the foremost victory....

Fier HoE T SV F WA F AT 5 | OF WA o9 W E9 9H 7 F e A wen, 59
T THEEE v F WEE W S 9IS A P S T 9% W TR UHE S 2 | 9 W SvEE E
HER ], At Tl 31 e O gEa O v 7, 3 2 T wen AR w3 e
T T TR F WAIEA 541, A1 A% T F WA F 5 T a5 T W6 S | 9E F WEE aw g

In which of the Major Rock Edicts Ashoka elaborated Dhamma’

o W OSSR T S R =9 16T R

[Question ID = 100][Question Description = 200_06_History_0CT22_Q100]

1

2

3.

* Major Hock Edict - V

[Option ID = 397]
- Major Rock Edict - VIIT

[Option ID = 398]
Major Rock Edict - X



B TETEE X

[Option ID = 399]
4. Major Rock Edict - XTI

[Option ID = 400]

Topic:- 11_GP_SH1_S1_A

D The following table shows the percentage (%) brealk-up of the employees working in =ix
different universities A. B. C., D. E. and F. The total number of employees in these six
Universities 18 also given in the tahble. Based on the data in the table. answer the
guestions :

University- wizse Distribution of Emplovees
Percentage

University | Total Number of Emplovees | Males | Females | Transgenders

A 2400 50% 57.0% 12.5%

B 4375 40% 36% 24%

LB 2625 24% Hh6% 20%

D 6000 35% 256% 40%
| E . 4250 38% 30%. 32%
| F | 1360 45% 40% 15%

FefatEs @ifer 5 27 v fEvaemem A, B, C, D, E it F ® 5/ FA=nal w1 Taea (%) @

wEivE | Wi ZE HrataaeEl § St S T a9 oailee | 4 8| A 4 159 W |5ESl R
ST qvT 1-5 F I 510

IR

rFalEed | FRATRA] i T A | 95 | ’iEdl | ZEEs
A 2400 50% | 37.8% | 12.6%
B 4375 40% | 36% 24%
C 2625 24% | 56% 20%
D 6000 35% | 25% 40%
E 4250 38% | 30% 32%
F 1360 45% | 40% 15%

The number of females working in umiversity F 1s —————— % more than the number of

transgenders working in the University A

r

EyaiaaTed F 0 SFE dieeal = ded) avaiaassa A H i ZEas 5 Oe § i ames (%)

wAew 7 7

[Question ID = 10274][Question Description = 101_00_General_29_0CT22_Q01]
1. 20

[Option ID = 11093]

2. 444

[Option ID = 11094]
1
3. 814

[Option ID = 11095]
4. 180



[Option ID = 11096]

2) The following table shows the percentage (%) brealk-up of the employees working in =ix
different universities A. B. C., D. E. and F. The total number of employees in these six
Universities 18 also given in the tahble. Based on the data in the table. answer the
guestions :

University- wizse Distribution of Emplovees
Percentage

University | Total Number of Emplovees | Males | Females | Transgenders

A 2400 50% 57.0% 12.5%

B 4375 40% 36% 24%

LB 2625 24% Hh6% 20%

D 6000 35% 256% 40%
| E . 4250 38% 30%. 32%
| F | 1360 45% 40% 15%

FefatEs @ifer 5 27 v fEvaemem A, B, C, D, E it F ® 5/ FA=nal w1 Taea (%) @

wEivE | Wi ZE HrataaeEl § St S T a9 oailee | 4 8| A 4 159 W |5ESl R
ST qvT 1-5 F I 510

WA
rFalEed | FRATRA] i T A | 95 | ’iEdl | ZEEs
A 2400 50% | 37.5% | 12.5%
B 4375 40% | 36% | 24%
c 2625 24% | 56% | 20%
D 6000 30% | 25% | 40%
E 4250 38% | 30% | 32%
¥ 1360 45% | 40% | 15%

The ratio of the number of males working in university D to the number of females working in
university C 1s

fazafaeres D 8 $w w0 F1 deg F w99 fGrafaaem © 8 FE Aol i e F ge 8
BTl

[Question ID = 10275][Question Description = 102_00_General_29_0CT22_Q02]

1. 7:10

[Option ID = 11097]
2 10:7

[Option ID = 11098]
3. 7:5

[Option ID = 11099]
4. 5:7

[Option ID = 11100]



3) The following table shows the percentage (%) break-up of the employees working in =ix

different universities A. B. C. D, E. and F. The total number of employees in these six
Universities 18 also given in the tahble. Based on the data in the table. answer the
guestions :

University- wize Distribution of Emplovees

Percentage
University | Total Number of Emplovees | Males | Females | Transgenders
A 2400 80% 37.0% 12.5%
B 4375 40% 36% 24%
C 2625 24% H6% 20%
D 6000 35% 25% 40%
| E | 4950 38% 30%. 32%
| F | 1360 45% 40% 15%
FeTAiEs aie § 97 B favaEmee A, B, C, D, E 3 F # FEea Feanal @ Toea (%)

weiia 2| wdi B fralaaerEl § FemiE S T deE 9 oarleee | € 8| e § 59w AwEEl
AW T YT 1-5 F I it

wiAsT
AR | FEAA T o Ol | 9 | Hiedl | ZEaE
A 2400 50% | 37.5% | 12.6%
B 4375 40% | 36% | 24%
C 2625 24% | b56% | 20%
D 6000 3b% | 2h% 40%
E 4250 38% | 30% 32%
F 1360 45% | 40% 15%

The number of transgenders 1s more than 500 in

I 1 g 500 ¥ Al Feiigs 8§ o Fen we et
[Question ID = 10276][Question Description = 103_00_General_29_0CT22_Q03]
1. All the six universities

TH Bz gvaiga—ar 4

[Option ID = 11101]
2. Only three universities

Feet 719 AT

[Option ID = 11102]
3. Only two universities

Fae F] avaraer=al §

[Option ID = 11103]
4. Only four universities

e e M | L =

[Option ID = 11104]



4) The following table shows the percentage (%) break-up of the employees working in =ix

different universities A. B. C. D, E. and F. The total number of employees in these six
Universities 18 also given in the tahble. Based on the data in the table. answer the

guestions :
University- wize Distribution of Emplovees
Percentage
University | Total Number of Emplovees | Males | Females | Transgenders
A 2400 50% 51.8% 12.5%
B 4375 40% 36% 24%
C 2625 24% H6% 20%
D 6000 35% 256% 40%
| E . 4250 38% 30%. 32%
| F | 1360 45% 40% 15%
FeTAiEs aie § 97 B favaEmee A, B, C, D, E 3 F # FEea Feanal @ Toea (%)

weiia 2| wdi B fralaaerEl § FemiE S T deE 9 oarleee | € 8| e § 59w AwEEl
AW T YT 1-5 F I it

wiAsT
AR | FEAA T o Ol | 9 | Hiedl | ZEaE
A 2400 50% | 37.5% | 12.6%
B 4375 40% | 36% | 24%
C 2625 24% | b56% | 20%
D 6000 3b% | 2h% 40%
E 4250 38% | 30% 32%
F 1360 45% | 40% 15%

If M and N represent the numbers of females working in Universities B and E together. and
the number of males working in umversities C and F together, respectively, then M —N=

7tz B 1t E Tavafae= § = Aieenal $1 den F meee 90 C am F favafanem 7 Fema 5
1 v w e s MEE NS = g s 2. @1 M—N=

[Question ID = 10277][Question Description = 104_00_General_29_0CT22_Q04]
1. 1608

[Option ID = 11105]
2. 1512

[Option ID = 11106]
3. 1414

[Option ID = 11107]
4. 1710

[Option ID = 11108]



%) The following table shows the percentage (%) break-up of the employees working in =ix

different universities A. B. C. D, E. and F. The total number of employees in these six
Universities 18 also given in the tahble. Based on the data in the table. answer the
guestions :

University- wize Distribution of Emplovees

Percentage
University | Total Number of Emplovees | Males | Females | Transgenders
A 2400 80% 37.0% 12.5%
B 4375 40% 36% 24%
C 2625 24% H6% 20%
D 6000 35% 25% 40%
| E | 4950 38% 30%. 32%
| F | 1360 45% 40% 15%
FeTAiEs aie § 97 B favaEmee A, B, C, D, E 3 F # FEea Feanal @ Toea (%)

weiia 2| wdi B fralaaerEl § FemiE S T deE 9 oarleee | € 8| e § 59w AwEEl
AW T YT 1-5 F I it

wiAsT
AR | FEAA T o Ol | 9 | Hiedl | ZEaE
A 2400 50% | 37.5% | 12.6%
B 4375 40% | 36% | 24%
C 2625 24% | b56% | 20%
D 6000 3b% | 2h% 40%
E 4250 38% | 30% 32%
F 1360 45% | 40% 15%

The total number of transgenders working mn all the six universities 1s approximately
5 of the total number of females working in all the six universities

7t T= Tavataa=al 8 T gEs $l T #@ea 9491 97 gt § FE miEers i e o

T AT R Wiaerd (%) 2
[Question ID = 10278][Question Description = 105_00_General_29_0CT22_Q05]
1. 80

[Option ID = 11109]
2. g2

[Option ID = 11110]
3. 75

[Option ID = 11111]
4, a3

[Option ID = 11112]
Topic:- 11_GP_SH1_S1_B

1
) Which one of the following developmental areas of individual differences will be affected, if a

child does not want to play with other children as he/she feels shy?

Ifa 1 =y 599 B F °4 994 wHie = F FE 951 Serar e, A1, Sahes fafiemed w etate
I —H] T TSR HIeae & WETEe B Y



[Question ID = 10279][Question Description = 106_00_General_29_0CT22_Q06]
1. Physieal development

[Option ID = 11113]

2. Emotional development
[Option ID = 11114]

3. Social development

[Option ID = 11115]
4. Language development

[Option ID = 11116]

2) In online mode of teaching a teacher added the reading materital (Word-DOC. PPTs.
E-content ete) on e-platform. Which option the students would chooze?

e F drEEs wEn (W) 3w Tew wwwE § usd A9 (53, 9, e (HTET)
seqTi2 ) 1 SiHe A 8| A 7 8 e e e == e

[Question ID = 10280][Question Description = 107_00_General_29_0CT22_Q07]
1. Mind mapping tools

ofeqer o () wa
[Option ID = 11117]
2. Inventory control system

r | i S [
DG EIREEE RN FHh
[Option ID = 11118]
3. Learning management system
115 =l e e e |
[Option ID = 11119]
4. Assessment tools
TETEA AT

[Option ID = 11120]

3) Given below are two statements :

Statement 1 : In MOOCs the word Massive' means that there can be huge number of
learners who can enroll for the course,

Statement I1 : MOOC 1involves the use of ICT to make education accessible to students
located in remote areas or who are unable to reach conventional classrooms:

In the Light of the above statements. choose the most appropriate answer from the options
given below :



B i o R i L

w9 1

e 10

‘TF 0 v o A A 7 2 1%t afem w9 oem w o 2o

UIE#E & fen TR 7 A 8

T AT T A T 3 e % e g s v HT § 1 9 & ¥ e
7 WU A WIET FATH 7 UE9d 949 9E 7

TETF FYF F AT 9, 99 B e 8 8 e 39T I #1999 A0a

[Question ID = 10281][Question Description = 108_00_General_29_0CT22_Q08]
- Both Statement I and Statement II are correct

Fo L Aw ILZ9T 991

[Option ID = 11121]

2.

Both Statement I and Statement IT are incorrect

Fua [ 47 29 T 7

[Option ID = 11122]
3. Statement I is correct but Statement IT 1= incorrect

Fu7 1971 2, AfFT %979 I 2

[Option ID = 11123]
4. Statement] is incorrect but Statement IT 1s correct

Tt I e 7. =i weae M =e 7

[Option ID = 11124]

4 Match List T with List IT :
TistI
(Factors of memory)
{A) Remembering I
{B) Retention (II)
(C) Recall {IIT)
(D) Recognition (Iv)

List I1

(Meaning)

The mental revival of the experiences
which have been learnt

The manifestation of our general
retaining power

The factor responsible for preserving
the material learnt

The factor responsible for modification
of behaviour through training and

learning

Choose the correct answer from the options given below :



-1 = =mer F1 gEI-I0 f5am Fifae

CELS! Lt

(T F T (317er)
(A) = F (D) HiE T S SR AE S T
(B) wiagmm (I) 9 HEFE THgRm w4 #H1 T E
(C) T3 (IIT) #dt 75 913 AWl & @E 70 FweE

ESEE

(D) = (IV) ufzrzm vs i & o159 9 =59eR UiEds
“m feu v foem 3 T 350 9 99T Fiae

[Question ID = 10282][Question Description = 109_00_General_29_0CT22_Q09]
- (A)-dID. (B)-(D). (C)-(IV). (D)-ID
[Option ID = 11125]
2. (A)-(IV), (B)-(I). (C)-(1T}), (D)-(III)
[Option ID = 11126]
3. (AMIV), (B)-(IID). (O)-(T). (D)-(IT)

[Option ID = 11127]
4. (A)-D). (B)-(IV), (C)-(ID). (D)-(IID)

[Option ID = 11128]

5) A child who feels it difficult to do a task alone, is able to do it better with the help of more
skilled peers and adults. It is termed as:

U Sl Al FS [HH wE F] WA H FeAE GRgH A 7, 97 5H AlE T aewiadl 1d a5 o
wEE O W=3T E W W4 6 O&Y 2) 28 3\ =y 4 wiafey 9

[Question ID = 10283][Question Description = 110_00_General_29_0CT22_Q10]
1. Accommodation

TH

[Option ID = 11129]

2.  Zome of proximal development

T fawm w a

[Option ID = 11130]
3. Assimilation

[Option ID = 11131]
4. Eguilibrium

T

[Option ID = 11132]

6) ‘The domain of application in thematic analysis is



FefatEs § 9 Fi-m fangens [Gveme ¥ S & &9 3 7

[Question ID = 10284][Question Description = 111_00_General_29_0CT22_Q11]

. Group comparison

[Option ID = 11133]

IDhiscourse revision
[Option ID = 11134]
3. Text integration
T3 THFA
[Option ID = 11135]
4. Visual aesthetics

[Option ID = 11136]
7) In participant observation. the résearcher has toactas a

et UHm § el R emeies | ° a9 w5 e e v

[Question ID = 10285][Question Description = 112_00_General_29_0CT22_Q12]
1.

Professional organiser

[Option ID = 11137]

2. Professional stranger
[Option ID = 11138]

3. Professional publicist
[Option ID = 11139]

4. Cultural agent

[Option ID = 11140]

8) Which of the following are excluded in seientific research?

(A4) Empiricism

(B) Remaoval of errors

(C) Subjectivity

(D) Unethical practices

(E)  Non-predictive inferences

Choose the correct answer from the optiuns given below ;



FtEtEs 9 9 FH-9 SE 79 9 iga 98 B
(A) IR

B T A g

(C)  =afwEE

(D) FfFF ==

(B)  T-wiasgems S

#i= f3u 7o foeel § O O 39 W 99 S0

[Question ID = 10286][Question Description = 113_00_General_29_0CT22_Q13]
' (A). (B). (C) only

F97 (A), (B), (C)

[Option ID = 11141]
2. (B). (). (D) only

== (B), (C), (D)

[Option ID = 11142]
3. (C). (D), (E) only

3= (C), (D). (E)

[Option ID = 11143]
4. (A). (C). (E) only

F44 (A). (©). (E)

[Option ID = 11144]

9) What are the limitations of employing online focus groups?

(A) Easy access to conference sites can be set up.

(B) E-mail interviews with people in different time zones will be extremely participatory.
() Drop outs may affect the data quality.

(D) The approach 1s confined to the people who are willing to participate.

(E) External influences on participants can be found.

Choose the correct answer from the options given below :

(A)  UH TEEE FE IO S #G E e TaaAl 3 A

(B) Toiu= Awa-&=1 (7158 94) A =01 % 30 & H15A9 § SAET Seaas BRG] 99 wR)

(C) M- #3528 ATSs! I TUEA F THIEH F A6 7l
(D) == =97F" U0 =00 A WG B A mEG 9 =9 2l

(E) T=9iE] W =me U9 2 S =594 B

4= f2u T fawem 9 1 A 5 W == Hiew

[Question ID = 10287][Question Description = 114_00_General_29_0CT22_Q14]
1. (A), (B), (O) only



45 (A), (B). (C)

[Option ID = 11145]
2. (B). (C). (D) only

a4 (B). (C). (D)

[Option ID = 11146]
3. (A). (B). (D) only

T+ (A). (B). (D)

[Option ID = 11147]
4. (C). (D). (E) only

Fa4 (C). (D). (E)

[Option ID = 11148]

10) Given below are two statements :

Statement I: A 1igid application of ethical principles 1s not possible In ethnographic
research.
Statement IT:  The principle of informed consent is theoretical, as pre-information is hikely

to affect the research findings.
In the hight of the above statements, choose the correct answer from the options given below :

FW L JEWE WG A AAE WA A SEe a9F w5 e

F I FFFE O AEntd @ g Ggieas 2, JE [E-aEEE 3 g F e F T 7 A
A 7

S FUA F A . A9 20 T e § H AeH 30 I #9599 Aian

[Question ID = 10288][Question Description = 115_00_General_29_0CT22_Q15]
1. Both Statement I and Statement IT are true

FuF [ 47 [l =+ 53 7

[Option ID = 11149]
2. Both Statement I and Statement IT are false

T 1390 11 2@ 99 7

[Option ID = 11150]
3. Statement I is true but Statement IT i=s false

Fu9 1907 7, W e I 5360 7

[Option ID = 11151]
4. Statement I is falze but Statement II is true

Fu7 [ 2790 7, @ites w41 Lo 7

[Option ID = 11152]

11)  Classroom communication is often referred to as ———— communication



T TEET F] A — W TR S

[Question ID = 10289][Question Description = 116_00_General_29_0CT22_Q16]
1. Indirect

T

[Option ID = 11153]
2. Non-contiguous

[Option ID = 11154]
3. Contiguous

I

[Option ID = 11155]
4. Amorphous

i~

TR

[Option ID = 11156]

12) When a communicated message is based on reference to another, it is called

[Question ID = 10290][Question Description = 117_00_General_29_0CT22_Q17]

1. Meta message

[Option ID = 11157]
2. Sourced message

T B fomr T @
[Option ID = 11158]
3. Referential message
[Option ID = 11159]
4. Ancillary message

[Option ID = 11160]

13)  Non-verbal communication is mostly
(A) Descriptive
(B) Apgeressive
(C) Inveluntary
(D) Contextual
(E) Symbolic

Choose the most appropriate answer from the options given below ;



SoTieaE FEAT9 HgET T R
(A)  TUHTHT

(B) AT

oy ===
(D) HEE
(E) =

+m= 5w e 8 @ weE ST 3 R =9 A

[Question ID = 10291][Question Description = 118_00_General_29_0CT22_Q18]
- (A). (B). (O) only

a4 (A). (B). (C)
[Option ID = 11161]

2. (B). (C). (D) only

Fa4 (B), (C), (D)
[Option ID = 11162]

3. (A). (D). (E) only

Fa+1 (A), (D). (B)
[Option ID = 11163]

4. (), (D). (E) only

9 (C), (D). (E)

[Option ID = 11164]

14)  Which of the following are true of communication?

(A) Communication is inevitable,
(B) Communication 1s non-social.
(C) Communieation 18 Irreversible.
(D) Communmnieation 1z cultural,

{E) Communication is completely commercial.
Choose the most appropriate answer from the options given below :
s 7 8 FF-0 gomm F A969g 0 75 A 7
(A)  wEmT A9TEE R
(B)  #FW T AESE B
(C) wrmm safaadd 7
(D)  =Fmm A A
(B)  =vigm gf iz anreas 2|
i o T e § | weE ST S0t #1954 i

[Question ID = 10292][Question Description = 119_00_General_29_0CT22_Q19]
1. (A) (B). (C) only



Fa= (A). (B). (O

[Option ID = 11165]
2. (A), (C), (D) only

Fae (A), (C), (D)

[Option ID = 11166]
3. (A). (D). (E) only

Fad (A), (D), (E)

[Option ID = 11167]
4. (B), (C), (E) only

Fa4 (B). (C). (E)

[Option ID = 11168]
15) Given below are two statements :

Statement 1: Communicative language is used by people to get sympathy. ignore fellow-

travellers, placate or embarras enemies and comfort friends.

Statement IT : As a tool of communication. language suffers from emotional loadings.
polar words and fictitious concepts,

In the hight of the above statements, choose the correct answer from the options given below :

TR FFA ET T E

FoA L FFT EW HEAVIESE 9T F WA @R O FA, SRl F A e, A w92

Fy I TN F IgEW F By OGN YEATEE Ay, A9 I A7 wedHE aEanmen O 55

THIE

I A AT 5, A B EEen O W H5e) 3 5 =9 SR

[Question ID = 10293][Question Description = 120_00_General_29_0CT22_Q20]
. Both Statement I and Statement II are true

w97 [ a1 1291 o9

[Option ID = 11169]
2. PBoth Statement I and Statement II are false

Fue 147 ML 39 390 7

[Option ID = 11170]
3. BStatement I1s frue but Statement IT is false

w9 153 2, =i w99 11 959 2

[Option ID = 11171]



4. Statement I 1s false but Statement IT 1s true

w97 [ w@d 7, oiwd #g &g 7

[Option ID = 11172]
16) If A is 20% of C and B iz 25% of C, then what percent is A of B?

Iz A, C=1 20% 3 B. C&1 25% 7, A1 A. B3 e Waaid 7

[Question ID = 10294][Question Description = 121_00_General_29_0CT22_Q21]
1. B0%

[Option ID = 11173]
2 80%

[Option ID = 11174]
3. T0%

[Option ID = 11175]
4. B0%

[Option ID = 11176]

17) Three numbers are in the ratio of 3:5:7 and the sum of theze numbers is 975, Find the three

numbers
A W, 3:5:7 F FWA ¥ 2 #7 53 wemaAt # arT 975 #| #E w3 Fifan|

[Question ID = 10295][Question Description = 122_00_General_29_0CT22_Q22]
- 195, 315, 465

[Option ID = 11177]
2. 185.3356. 455

[Option ID = 11178]
3. 175, 345, 455

[Option ID = 11179]
4. 195, 325, 4565

[Option ID = 11180]

18) Find out the wrong number in the series given below

6. 18, 90, 630, 6930, 83160
ey & T g # e S S i

[Question ID = 10296][Question Description = 123_00_General_29_0CT22_Q23]
1. 83160

[Option ID = 11181]
2. 6930

[Option ID = 11182]
.40

[Option ID = 11183]
4. 830

[Option ID = 11184]



19)  Five years ago, the average age of A and B was 23 years. If today, average age of A, Band C
is 27 years. what will be the age of C after 5 years?

599 7, At B mm wm 28 A AR 39 AT BHER CH dFmm g 27 AL 5 ad

wr=Te C 1 g T 7 T

[Question ID = 10297][Question Description = 124_00_General_29_0CT22_Q24]
1. 30

[Option ID = 11185]
2. 98

[Option ID = 11186]

3 20

[Option ID = 11187]
4. 32

[Option ID = 11188]

20) A man walks 15 metres in the front and then 15 metres to his right. Then every time turning
to his left. the man walks 5 metres. 20 metres and 20 metres respectively. How far is the man
from the starting point?

A G=4 % SHF FA:S Ui, 20 Tz T 20 HiE 99 2| 3 98 S 90 THiaE 24§ S o
WY
[Question ID = 10298][Question Description = 125_00_General_29_0CT22_Q25]
1. 15 metres
15 97
[Option ID = 11189]
2. b metres
5 H=
[Option ID = 11190]
3. 20 metres
20 Hiz
[Option ID = 11191]
4. 10 metres

10 97

[Option ID = 11192]



21) Which of the following propositions are logically equivalent to ‘No women are dishonest
human heings’:

(A) No dishonest human beings are women
(B) All women are non-dishonest human beings

(C) No women are non-dishonest human beings

(D) All non-women are non-dishonest
Choose the correct answer from the options given below :
a5 & FF @ wlamier o e 8w o g wEEE g T A E F mEE £

(A)  FE H7 wEET 999 5 TE 2

(B) @4l qfF=m T-wEaE 99 7

(C) =3 i afee M—=s9M 7= A4 2

(D) = =g W-wEAE 2

[Question ID = 10299][Question Description = 126_00_General_29_0CT22_Q26]
- (A) and (B) only
Fa (A) =7 (B)
[Option ID = 11193]
2. {(C)and (D) only
Fae1 (C) =1 (D)

[Option ID = 11194]
3. (A) and (C) only

Fa4 (A) 77 (O)

[Option ID = 11195]
4 (A). (B) and (C) only

Fa4 (A), (B) A7 (0)

[Option ID = 11196]

22) “Human beings are animals because as homo sapiens we all evolved thousands of years ago™
Which informal fallacy is committed in the above argument?

T T F A 58 A=A A T AEe (R A0EE) F w9 A G 5
T4 I § FA-T1 FATENE aFad 2 7

[Question ID = 10300][Question Description = 127_00_General_29_0CT22_Q27]

1. Fallacy of composition and division



[Option ID = 11197]

2. Fallacy of accident

Fufy 75 2m

[Option ID = 11198]

3. False cause

T T

[Option ID = 11199]

4. Red hernng

1.

= F

[Option ID = 11200]

23) Given below are two statements :

Statement I : If a deductive argument is valid and its premises are true, we say that the
argument 1s sound,
Statement IT : If an inductive argument 1s strong and its premises are true. we say that it
1s cogent

In the light of the above statements, choose the correct answer from the options given below :
i &1 % e E
Fa l: TR TEaTEE o 29 7 AW 0% EE T OY R, 79 Fad | O a6 o B
Fya [1:  =ic Uitg 7% 99 7 A7 3699 sa0-9949 §0d 2, 59 F2d 2 % 9% #3Fe 2)
SUINE FUA F A B, A [0 0 faEeT 8§ @ 768 390 I B 997 A

[Question ID = 10301][Question Description = 128_00_General_29_0CT22_Q28]
Both Statement I and Statement I1 are true

FuF I A0 [ 5 &2 7

[Option ID = 11201]

2. Both Statement I and Statement IT are false

o 1 97 I =/ 7o 7

[Option ID = 11202]

3. Statement I is true but Statement II is falze

Fum 1577 B, w7 =g I 59 7

[Option ID = 11203]

4. Statement I is false but Statement IT 1s true

a5 I 55977 7, =i w9 O aea 7

[Option ID = 11204]



24) Which of the following steéps of inference as per classical Indian school of logic involve
application of the universal concomitance to the particular present case

(&)
(B)
(&)
D)
(E)

Socrates 1= mortal

Because he 1s a man

Whoever 1s a man is a mortal e.g. Pythagoras
Socrates 1s a man who is invariably a mortal
Therefore Socrates is mortal

Choose the correct answer from the options given below :

T R A GEAT HA o STEE A ed 5§ F e =0/ 5 e A T 5 96 q5ae

(A
(B)
(€
(D)
(E)

1 9 2, 9 Ao § AR -UEAEA
TFA 599 2 A JHaEa: o 2

4 fau v fRedt B F WA 2 A =9 R

[Question ID = 10302][Question Description = 129_00_General_29_0CT22_Q29]
1. (A). (B) and (E) only

F= (A). (B) 577 (E)

[Option ID = 11205]
2. (C)and (D) only

F=# (C) w7 (D)

[Option ID = 11206]
3. (B) and (D) only

== (B) #1170 (D)

[Option ID = 11207]
4. (D) only

Fa= (D)

[Option ID = 11208]

25)

Given below are two statements :

Statement I : Verbal form is an integral part of the inference according to classical Indian

school of logic.

Statement IT : Classical Indian school of logic distinguishes between induction and

deduction as separate inferential processes.

In the light of the above statements. choose the most appropriate answer from the options
given below :



= 91w fRu T E

FF [ :  FEEEE F A GUAE B F SO0 e B9 SEEE F araa 9 2|

Fgq IL: 7 Twd] S GEAE O 99F S99 T ® =1 0 AP S0 FE a0 99 Fa w2l
S YA T AT |, A 5w fagen 5 1 mes 30T I 99 fian

[Question ID = 10303][Question Description = 130_00_General_29_0CT22_Q30]
. Both Statement I and Statement IT ave correct

T [0 I =M 921 7

[Option ID = 11209]
2. Both Statement I and Statement IT are incorrvect

Fo7 [ 7 1291 T4 7
[Option ID = 11210]
3. Statement I is correct but Statement 1T iz incorrect
F9= I8 2., @fed =2 [T 7o =
[Option ID = 11211]
4. Btatement I 1s incorrect but Statement IT is carrect
F4 74 7, o e L& 7
[Option ID = 11212]

26) HDMI ports allow output (both audie and visual) from a computer to an HDMI-enabled
device. HDMI 15 an acronym for

HDMI w2 5 g & v HDMI-af==a 9 I # 9 (73 vd 399 21) i s3aia w=e #a
7| HDMI F=ieigs 5 # a1 aiam o/ 2 ¢

[Question ID = 10304][Question Description = 131_00_General_29_0CT22_Q31]
1. Highly -Digital multimedia Interface
[Option ID = 11213]
2. High-Definition Multimedia interface
B2 aedidii=ar 2050

[Option ID = 11214]
3. Highly-Digitized multimedia interface

EEHI-TSIA2I5sS ArdHITsd] S20Fd

[Option ID = 11215]
4. Haghly-Digital multimedia instruction

o I i s R e B e Rt 2

[Option ID = 11216]



27) An email message has been sent from A to B, C. D. E and F with the fields as shown below:

From : A
Ta : B
Ce : GD
Bee : E.F

Which one of the following statements is TRUE?

T 599 H2m AF B, C. D, E 31 Fol = w2 599 43 F 57 9 99

From : A

To y B

Ce : GC.D

Bee : E.F
Fretafas w5 T F T FgE TR 27

[Question ID = 10305][Question Description = 132_00_General_29_0CT22_Q32]
. F does not know that C was sent the message.

F5d 7¢a § w199 = 76 C =1 J537 537 750 o

[Option ID = 11217]
2. (C does not know that D was sent the meszage.

C=83 759 § #1477 = D = "85 5= 70 91

[Option ID = 11218]
3. E does not know that F was sent the message.

EsA 99 0 39 & 7 F o) Haur 990 7T 91

[Option ID = 11219]
4. D does not know that B was senf the messapge.

D=y 9e3 9 sfag 7 7 B 929 5= 70 a0l

[Option ID = 11220]

28)  Which of the following are micro-blogging platforms?

(A) Pinterest

(B) eBay

(C) Tumblr
(D) Instagram
(E)  Twatter

Choose the correct answer from the options given helow :



il ~

FETATEd 8 | AR -5 SR FA A 50

e

A fr==
B) =4 (eBay)

(C) TEETT
D) =W
(E) Tz

Fr fZu T TSEed B O TE I F 99T Fian

[Question ID = 10306][Question Description = 133_00_General_29_0CT22_Q33]
1. (D)and (E) only

Fae (D) E (E)

[Option ID = 11221]
2. (C). (D) and (E) only

A (C), (D) =7 (E)

[Option ID = 11222]
3. (A), (C), (D) and (E) only

49 (A). (). (D) =7 (E)

[Option ID = 11223]
4. (A). (B) and (C) only

A (A). (B) #1 (C)

[Option ID = 11224]

29) Match List T with List 11 :

TLastI ListII
(Question) (Value)
(A) What hexadecimal value is obtained | () 8

when the two hexadecimal digits C
and D are added together?

(B) What is the denary (base-10) value of (ITy 19
the binary number : 00100100

(C) Number of seconds to transfer a (IIT) 30
2 megabyte file over a 2 megabits per
second internet connection

(D) If 1 gigabyte = 2¥, then what is the avy 36
value of P?

Choose the correct answer from the options given below :



-1 F = 1 g-11 Toee Fifem

-1 11
(w7} ()

(A) ST IET aET AR CEnDF o oA (D 8
ST AW F AT FH A WS ATGET HF T
wrm?

(B) T wnar @w=m: 00100100 % =ofd® == | () 19
(=mam-10) T = ¥

(C) 2 Tme fF s 52097 99 W 2 gz | (1D 30
HEA F TAE T A S S

(D) 4=z 1mEmse = 27 . 31 P=1 59 01 707 (Iv) 36

¥ fzu o o 9 1 = o w1 999 e

[Question ID = 10307][Question Description = 134_00_General_29_0CT22_Q34]
1 (A)-AID). (B)-(IV). (C)-(T). D)-(ID)

[Option ID = 11225]
2. (AMID). (B)(IV). (O)-(D. (D)(IID)

[Option ID = 11226]
3. (A)-(IV), (B)-(IT), (C)-(Iy, (D)-(IIT)

[Option ID = 11227]
4 (A)-aD). (B)-(D. (C)-(IV). (D)-AID)
[Option ID = 11228]

30) Given below are two statements :

Statement I: A DVD or CD using the letter ‘R’ indicates that it i= Read only.

Statement IT : Web browsers are used to allow a user to gain access to the internet.

In the light of the above statements, choose the correct answer from the options given below :

4= =1 F95 fzom 2 .

FR1: RS A S S w9 9 5w = 2 F o e e g

FoF I1: =@ WS = T AT T 5e2 UFHH WH e o T R S R Y

IHEIF FYA F AR O, 99 7 e 9 A e I I #1999 S

[Question ID = 10308][Question Description = 135_00_General_29_0CT22_Q35]
1. Both Statement I and Statement IT are true

e [ 9w 1L 21 oed 7

[Option ID = 11229]



2. Both Statement I and Statement I1 are false

o 1 s L1 s 3
[Option ID = 11230]
3. Statement I 1s true but Statement IT 1s false
FoT 1903 7, | =7 M am= =
[Option ID = 11231]
4. Btatement I 1s false but Statement II 1= true
FaA [ 390 2, oA #aa [ o097

[Option ID = 11232]

31)  Which of the following are examples of secondary air pellutants?

(A) Sulphate

(B) Nitric Oxide (NO)

(Q) Photochemieal smog

(D) Peroxy Acetyl Nitrate (PAN)

(E) Polyeyclic Aromatic Hydrocarbons (PAH)

Choose the most appropriate answer from the options given below :

e O F (GAEE aiETs F s FA AR
&) T

{B) ATFleh 3EFEES (NO)

(C) TFW-TEAERF 99 (TR )

(D) T wfatzE e (PAN)

(B) TS e wasrrEg (PAH)
Fi= = o fare 8§ W HE 3 9 99T Fa

[Question ID = 10309][Question Description = 136_00_General_29_0CT22_Q36]
1. (A), (B), (C) and (D) only
FI5 (A), (B). (C) 7 (D)

[Option ID = 11233]
2. (). (D). and (E) only

Faet (C), (D), 317 (E)

[Option ID = 11234]
3. (B), (C) and (D) only

= (B). (C) 37 (D)

[Option ID = 11235]
4 (A). (C) and (D) only

Faw (A), (C) FF (D)

[Option ID = 11236]



32) Match List I with List IT :

List1 List 11
(Pollutants) (Health Effects)
(A) Carbon monoxide (CO) (I) Allergenic
(B) Nitrogen dioxide (NO3) (Il Carcinogenic
(C) Volatile Organic Compounds (VOCs) {IIT} Asphyxiant
(D) Ozone (0z) (IV) Blue baby-syndrome

Choose the correct answer from the options given below :

g=i-1F |1 1 g1 e i
i1 et
(5 (FEE-1E)
(A) FEETE FEEEES (CO) () TSR
(B) Am=gr=+ sEAmEEs (NO:) (Il) FoFr=
(C) FTorei= FEE= A (VOCs) () v
(D) FEE (03) (IV) == 7f1 fomoy s

4= 720 U T9eRet § O TR 30 1 = ShifEu

[Question ID = 10310][Question Description = 137_00_General_29_0CT22_Q37]
1 (A)-(IID). (B)-(IV), (C)-(ID), (D)-T)
[Option ID = 11237]
2. (A)(IID. (B)-(IV), (©)-(I). (D)-(IL)
[Option ID = 11238]
3. (AD. (B)-(IIL), (C)-(II). (D)-(IV)

[Option ID = 11239]
4. (A, (B)-(IV). (C)-(ID). (D)-(III)

[Option ID = 11240]

33)  Which of the following are common In both Millinium Development Goals (MDGs) and
Sustainable Development Goals (SDGs)?
(A) Zero hunger
(B) Life below water
{C) No poverty
(D)  Life on earth
(E) Gender equality

Choose the correct answer from the options given below :



sl famm wa(MDGs) st s fem @ (SDGs) 2 4, Fefetiad 4 @ #19 & swafs 77
(&) 7= gm (S )

(B) =emm H5EA

(C) At

(D) 9= W A

(B) = mamEa

4 T T TEd § # WA S A 98 e,

[Question ID = 10311][Question Description = 138_00_General_29_0CT22_Q38]
- (A), (B). and (C) only

Fa (A), (B), 577 (©)

[Option ID = 11241]
2. (B). (C). and (D) only

w1 (B). (C). #7 (D)

[Option ID = 11242]
3. (A). (D) and (E) only

Fae (A), (D) =7 (E)

[Option ID = 11243]
4 (A). (C) and (E) only

Fae (A), (0) 317 (E)

[Option ID = 11244]

34) @Given below are two statements :
Statement I : An increase in CO: 13 expected to enhance global plant growth.
Statement IT : Deforestation ean increase the biosphere’s capacity.
In the light of the above statements. choose the correct answer from the options given below :

da S wys Hemw

FH 1 FEASE dEEEs (CO2) § 3 3 3fvas 7=y 9 w5 F1 e w2
Fuq I : T Sfanss i @ 5 3fg =2 w21

IR FU F A °, 94 B o e § 4 g v 3w 99 i

[Question ID = 10312][Question Description = 139_00_General_29_0CT22_Q39]
1. Both Statement I and Statement IT are true

Tt L I3 7 7

[Option ID = 11245]



2.

Both Statement [ and Statement IT are false

Foq [ 47 1291 79 7
[Option ID = 11246]

Statement I is true but Statement II is false
Fa= 1981 7, #iend =97 170 &

[Option ID = 11247]

Statement I 1s false but Statement IT is true
Fu 1 7 7. oA w21 ILTR 7

[Option ID = 11248]

35) (@reen hydrogen is produced by electrolysis powered by

e —392a g7 309 UH TSS9 F (90 THl Heiaias 9 | Es g0 0 2 A ¢

[Question ID = 10313][Question Description = 140_00_General_29_0CT22_Q40]

1.

Energy from thermal power plant

TN e o = 2= B o M e

[Option ID = 11249]
Renewabhle sources of energy

AT = FHEE J5AT 3

[Option ID = 11250]

Nuclear energy
AR Tl F

[Option ID = 11251]
Lead battery

e w2 g

[Option ID = 11252]

36) Sectoral Skill Councils will be incubated by

[

1.

2.

3.

&7 T e T FETeeT ° | e g SgATEe Sl A ¢

Question ID = 10314][Question Description = 141_00_General_29_0CT22_Q41]
NITI Aayog
ity
[Option ID = 11253]
Indian Standards Couneil

[Option ID = 11254]
Union Department of Education



[Option ID = 11255]
4. National Skill Development Corporation

T FOE A A
[Option ID = 11256]

37) The national portal for trainers and assessors, an initiative by National Skill Development
Corporation is called

[Question ID = 10315][Question Description = 142_00_General_29_0CT22_Q42]
1. Walanda

T i =

[Option ID = 11257]
2. Takshashila

et

[Option ID = 11258]
3. Vikrama

[Option ID = 11259]
4. Patanjah

[Option ID = 11260]

38) Given below are two statements :

Statement I : The Radhakrishnan Commission recommended to standardise university
teaching in India.
Statement IT: The Radhakrmshnan Commission also suggested the establishment of an

All India University Examination Board.
In the hght of the above statements, choose the correct answer from the options given below :

FA L;  THEEE 9@ 3 AE A Evaaae S 1 aEaEa B S

F I:  THEFTR AER A UF AhEa e e e = s # 9 gwE

IR U F AR °, S G e fasea § W we SUgE I = A

[Question ID = 10316][Question Description = 143_00_General_29_0CT22_Q43]



1. Both Statement I and Statement II are true

[Option ID = 11261]

2. Both Statement I and Statement IT are false
Fom T 47 ILEFT 7efe 7
[Option ID = 11262]

3. Statement I is true but Statement IT is false

[Option ID = 11263]
4. Btatement I 1s false but Statement IT is true

F2 T [ 7= 7. o e L Ha 7

[Option ID = 11264]

39)  Which of the following are the ancient treatises on the science of medicine?
{A) Carak Samhita
(B) Sulva Satras
(C) Susruta Samhita
(D) Yoga Satras
Choose the most appropriate answer from the options given below :
eI H H A H A IR S H el 2 7

(A) =TF A

(B T
(C)  =gA Hizm
D) =

Hi= {20 T foFeq H H meE 39T I ) 99 i

[Question ID = 10317][Question Description = 144_00_General_29_0CT22_Q44]
1. (B)and (D) only

Fa5 (B) 37 (D)

[Option ID = 11265]
2. (B), (C) and (D) only

Faw (B), (C) #7 (D)

[Option ID = 11266]
3. (A) and (C) only

FAe (A) H1(C)

[Option ID = 11267]
4. (A), (B). (C) and (D)

(A). (B). (C) 7 (D)



40)

[Option ID = 11268]

Which of the following is an ancient treatise on mathematies?

TS 7 H = e AT W 5 B

[Question ID = 10318][Question Description = 145_00_General_29_0CT22_Q45]

1.

Nyaya Satras

L

[Option ID = 11269]

Samkhya Karika

[Option ID = 11270]

Samkhya pravacana satras

[Option ID = 11271]

éulva satras

[Option ID = 11272]

Topic:- 11_GP_SH1_S1_C

1)

Read the passage and answer guestions:

On reflection scientists have rejected many past theories. It iz also true that those theories
were highly effective within the contexts that they had been developed and tested. The old
earth-centred model of the solar system was supremely accurate to prediet locations of stars
and planets. Even now Newton's law of gravity is used to calculate satellite trajectories and
go to the moon. Beliefs are made on the basis of evidence on hand. Philosophers and
statisticians have over a period time, developed thinking ways about the relationship
between belief. action. and evidence that captures this pragmatism, Beliefs come in degrees
and measure how likely we think something te be true. The evidence we gather should
mmfluence these degrees of belief. The character of evidence makes us confident. We can use a
branch of probability theory to map out a precise relationship between what we observe and
what we ought to believe. A formula. known as Bayes' rule allows you to calculate your
degree of belief or ecredence. This 1s after learning of some evidence that takes into account
what you believed before you saw the evidence. Bayes rule iz a unique and rational way to
update vour beliefs.



Frriferm e 1 Wi S U W 46 F 50 F 3 S0m

o = wr= SR F AT # P g W wEEa e R i S gm e
Taiae e 0 9 ST 39 ghEm B 1, 39 HEdl & Wi sEd sifas wATEl 9| a8 3 9E i sEeie
T HUT T AN FA F 0 W0 TS H WA S i M99l [WeEe 5O 97| TR 9 6 99 e

F T A9 F A I9E S UA 99 W U S 97 99 7% A9 F o T e A
L e £ om0 e e 1 VI e 1 o = e o e =1 e 2 o e M v £ M A S =T Ll

HmmﬁﬁmmﬁmaxnwmuTwuh—wmmhﬁmﬂ=:1Tm-rnrf"|=r'-mﬁaqfaﬁ
=1 7 #AT TOH TH W SR 9IS TR S 2 TR R e TR =i w0 Oen uee R e meEE B S
SV THA HIED W ATAA & 39 A9 T U@ TSA1 A0 W ) THA A 7EE Feae 39 2 ) g
9% UHE  =TE1 HF FHE BT F 05 AAF Had T T 5 60 59 Wi {9 S I = T
T FEA 7| AUE 99H 7 B0 0 WEiAd 99 0 S Al J1 favEd 1 @ w5 aiehen e 6 S 4
T B WET W IEA A U AR 9a F @94 3§ Fo0h WEd F A9 F U A 9En S e Al
SUH F AT Ol F e F44 % g i fSaeg ot i )

What is true in case of past thearies rejected by today's scientists?

ATFF FF1 g0 [9ae [HgE F1 s 0 A Fl 590 § FEned 9 3 7= a6 2 7

[Question ID = 10319][Question Description = 146_00_General_29_0CT22_Q46]

1.

2.

3.

4.

2)

Past thearies were untenable,

T Flern fagm AR %

[Option ID = 11273]

They were untested.

ST T FE T

[Option ID = 11274]

They were true in the context of testing them.

30 OEF WA F Hed 5 a6 4|

[Option ID = 11275]

They were rejected because of their inaccuracy.

T FEAT TR B F B0 Ien S A T |

[Option ID = 11276]

Read the passage and answer guestions:

On reflection scientists have rejected many past theories. It i= also true that those theories
were highly effective within the contexts that they had been developed and tested. The old
earth-centred model of the solar system was supremely aceurate to predict locations of stars
and planets. Even now Newton's law of gravity is used to calculate satellite trajectories and
go to the moon. Beliefs are made on the basis of evidence on hand. Philosophers and
statisticlans have over a period time, developed thinking ways about the relationship
between belief. action. and evidence that captures this pragmatism, Beliefs come in degrees
and measure how lhkely we think something te be true. The evidence we gather should
influence these degrees of belief. The character of evidence makes us confident. We can use a
branch of probability theory to map out a precise relationship between what we observe and
what we ought to believe. A formula. known as Bayes' rule allows you to calculate your
degree of belief or credence. This i1s after learning of some evidence that takes into account
what you believed before you saw the evidence. Bayes' rule iz a unique and rational way to
update vour beliefs.



Fr=TRa e W 9ien ST UET 4. 46 H 50 % I aian|

o = wr= SR F AT # P g W wEEa e R i S gm e
Taiae e 0 9 ST 39 ghEm B 1, 39 HEdl & Wi sEd sifas wATEl 9| a8 3 9E i sEeie
T HUT T AN FA F 0 W0 TS H WA S i M99l [WeEe 5O 97| TR 9 6 99 e

F T A9 F A I9E S UA 99 W U S 97 99 7% A9 F o T e A
L e £ om0 e e 1 VI e 1 o = e o e =1 e 2 o e M v £ M A S =T Ll

HmmﬁﬁmmﬁmaxnwmuTwuh—wmmhﬁmﬂ=:1Tm-rnrf"|=r'-mﬁaqfaﬁ
=1 7 #AT TOH TH W SR 9IS TR S 2 TR R e TR =i w0 Oen uee R e meEE B S
SV THA HIED W ATAA & 39 A9 T U@ TSA1 A0 W ) THA A 7EE Feae 39 2 ) g
9% UHE  =TE1 HF FHE BT F 05 AAF Had T T 5 60 59 Wi {9 S I = T
T FEA 7| AUE 99H 7 B0 0 WEiAd 99 0 S Al J1 favEd 1 @ w5 aiehen e 6 S 4
T B WET W IEA A U AR 9a F @94 3§ Fo0h WEd F A9 F U A 9En S e Al
SUH F AT Ol F e F44 % g i fSaeg ot i )

The gravitational theory of Newton helped
A heArhuY [Hgig =
[Question ID = 10320][Question Description = 147_00_General_29_0CT22_Q47]
1. Man to go to the moon
T T 201 9% A5 O HeEd mel |
[Option ID = 11277]
2. Tolocate the stars and planets
B R Al R i R e oG i e

[Option ID = 11278]
3. To know the solar model

AR -TE9 F1 AR B WEEaT 6

[Option ID = 11279]
4. To understand the satellite designs

TqUE ] ATEE THEA 0 HEET e

[Option ID = 11280]

3) Read the passage and answer guestions:

On reflection scientists have rejected many past theories. It iz also true that those theories
were highly effective within the contexts that they had been developed and tested. The old
earth-centred model of the solar system was supremely acecurate to prediet locations of stars
and planets. Even now Newton's law of gravity is used to caleulate satellite trajectories and
go to the moon. Beliefs are made on the basis of evidence on hand. Philosophers and
statisticians have over a period time, developed thinking ways about the relationship
between belief. action. and evidence that captures this pragmatism, Beliefs come in degrees
and measure how likely we think something to be true. The evidence we gather should
influence these degrees of belief. The character of evidence makes us confident. We can use a
branch of probability theory to map out a precise relationship between what we observe and
what we ought to believe. A formula. known as Bayes rule allows you to calculate your
degree of belief or credence. This is after learming of some evidence that takes into account
what you believed before you saw the evidence. Bayes rule iz a unique and rational way to

update yvour belefs.



Frriferm e 1 Wi S U W 46 F 50 F 3 S0m

o = wr= SR F AT # P g W wEEa e R i S gm e
Taiae e 0 9 ST 39 ghEm B 1, 39 HEdl & Wi sEd sifas wATEl 9| a8 3 9E i sEeie
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The relationship between degrees of belief and truth is made possible by
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[Question ID = 10321][Question Description = 148_00_General_29_0CT22_Q48]

1.

2.

3.

4.

4)

Actions initiated

[Option ID = 11281]
Confidence acquired

[Option ID = 11282]
Imagination of individuals

[Option ID = 11283]
Evidence available

39cTsy H1+

[Option ID = 11284]

Read the passage and answer guestions:

On reflection scientists have rejected many past theories. It iz also true that those theories
were highly effective within the contexts that they had been developed and tested. The old
earth-centred model of the solar system was supremely acecurate to prediet locations of stars
and planets. Even now Newton's law of gravity is used to caleulate satellite trajectories and
go to the moon. Beliefs are made on the basis of evidence on hand. Philosophers and
statisticians have over a period time, developed thinking ways about the relationship
between belief. action. and evidence that captures this pragmatism, Beliefs come in degrees
and measure how likely we think something to be true. The evidence we gather should
mnfluence these degrees of belief. The character of evidence makes us confident. We can use a
branch of probability theory to map out a precise relationship between what we cbserve and
what we ought to believe. A formula. known as Bayes rule allows you to calculate your
degree of belief or credence. This is after learming of some evidence that takes into aceount
what you believed before you saw the evidence. Bayes rule iz a unigque and rational way to
update your behefs.
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Bayes' rule can be used to calculate the relationship between
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[Question ID = 10322][Question Description = 149_00_General_29_0CT22_Q49]

1.

2.

3.

Past and present theories.

[Option ID = 11285]

Observation and belief

AFATEA (T ST T

[Option ID = 11286]

Rationality and uniqueness

[Option ID = 11287]

4. Credence and dishelhief

5)

[Option ID = 11288]

Read the passage and answer guestions:

On reflection scientists have rejected many past theories. It iz also true that those theories
were highly effective within the contexts that they had been developed and tested. The old
earth-centred model of the solar sy=tem was supremely acecurate to prediet locations of stars
and planets. Even now Newton's law of gravity is used to caleulate satellite trajectories and
go to the moon. Beliefs are made on the basis of evidence on hand. Philosophers and
statisticians have over a period time, developed thinking ways about the relationship
between belief. action. and evidence that captures this pragmatism, Beliefs come in degrees
and measure how likely we think something te be true. The evidence we gather should
mmfluence these degrees of belief. The character of evidence makes us confident. We can use a
branch of probability theory to map out a precise relationship between what we observe and
what we ought to believe. A formula. known as Bayes rule allows you to calculate your
degree of belief or credence. This is after learming of some evidence that takes into account
what you believed before you saw the evidence. Bayes rule iz a unique and rational way to
update vour beliefs.
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The main theme of the passage is
5 AT T HEE 99 R

[Question ID = 10323][Question Description = 150_00_General_29_0CT22_Q50]
1. Changing nature of beliefs

AT S T § qhE

[Option ID = 11289]
2. Tmportance of the theory of Newton

== w1 A

[Option ID = 11290]
3. Mapping of probability theory

[Option ID = 11291]
4. Centrality of human confidence in updating truth
eI F FEAT T g F Gvas i e

[Option ID = 11292]






